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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

First Semester 

PRINCIPLES OF MANAGEMENT  

(CBCS – 2017  onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Management.  

 ÷©»õsø© Áøμ¯Ö. 

2. Is Management is Science? 

 ÷©»õsø© J¸ AÔÂ¯»õ? 

3. What is Planning? 

 vmhªhÀ GßÓõÀ GßÚ? 

4. Write  a short note on short term planning. 

 SøÓ¢u Põ» vmhªhÀ £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. What do you mean by decentralisation?  

 £μÁ»õUP® Gß£uß ö£õ¸Ò £ØÔ }Âº AÔÁx GßÚ? 

6. What are the objectives of Planning? 

 vmhªku¼ß ÷|õUP[PÒ ¯õøÁ? 
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7. What is Motivation? 

 ö\¯¿UP©ÎzuÀ GßÓõÀ GßÚ? 

8. Who is Democratic Leader? 

 áÚ|õ¯P uø»Áº Gß£Áº ¯õº? 

9. What is meant by Business Ethics? 

 öuõÈÀ uº©® Gß£uß ö£õ¸Ò GßÚ? 

10. Write  a note on Management Audit? 

 ÷©»õsø© uoUøP £ØÔ SÔ¨¦ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the features of management?  

  ÷©»õsø©°ß ußø©PÒ £ØÔ ÂÁ›. 

Or 

 (b)  Discuss the role played by a manager in a business 
organisation. 

   J¸ ÁoP Aø©¨¤À ÷©»õÍ›ß £[S £ØÔ 

ÂÁõvUPÄ®. 

12. (a) Explain the steps to be taken to make planning 
effective. 

]Ó¢u vmhªhø» HØ£kzxÁuØPõÚ GkUP¨£h 

÷Ási¯ ÁÈPøÍ ÂÍUSP. 

Or 

 (b)  Discuss the characteristics of Decision – Making. 

   wº©õÚ® ö\´u¼ß C¯À¦PÒ £ØÔ ÂÁ›. 
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13. (a) What are the advantages of delegation of authority?  

  E›ø© J¨£øh¨¤ß |ßø©PÒ ¯õøÁ? 

Or 

 (b)  What are the types of organization? 

   {ÖÁÚ Aø©¨¤ß ÁøPPÒ ¯õøÁ? 

14. (a) What are the various types of Communication?  

  uPÁÀ öuõhº¤ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b)  What are the principles of directing? 

   C¯USÂzu¼ß öPõÒøPPÒ ¯õøÁ? 

15. (a) Explain the importance of budgetary control. 

  ÁμÄ ö\»Ä vmh Pmk¨£õmiß •UQ¯zxÁzøu 

ÂÁ›. 

Or 

 (b)  State the characteristics of a good control system. 

   ]Ó¢u Pmk¨£kzxuÀ Aø©¨¦ •øÓ°ß 

C¯À¦PøÍU TÖ. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the role of management. 

 ÷©»õsø©°ß £[QøÚ ÂÁ›UPÄ®. 

17. Explain advantages and limitations of planning. 

 vmhªh¼ß |ßø©PÒ ©ØÖ® SøÓ£õkPøÍ ÂÁ›. 
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18. Elucidate the various theories of organisation. 

 {ÖÁÚ Aø©¨¤ß £À÷ÁÖ ÷Põm£õkPøÍ ÂÍUSP. 

19. Explain the different qualities of Leadership.  

 uø»ø©¨ £s¤ß £À÷ÁÖ Sn[PøÍ ÂÁ›. 

20. Explain the techniques of control. 

 Pmk¨£kzu¼ß ~m£[PøÍ ÂÍUSP. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

First Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. State the meaning of accounting. 

 PnUS¨£vÂß Aºzu® TÖP. 

2. What is meant by dual aspect concept? 

 Cμmøhz ußø© ÷Põm£õk GßÓõÀ GßÚ? 

3. What do you know about principle error? 

 öPõÒøP ¤øÇ £ØÔ } AÔÁÚ ¯õøÁ? 

4. What is the need of creating suspense account? 

 AÚõ©zxU P/S u¯õ›¨¤ß ÷uøÁ ¯õøÁ? 

5. What is bill of exchange? 

 ©õØÖa^mk GßÓõÀ GßÚ? 

6. Give the meaning of grace days. 

 P¸øn |õmPÒ SÔ¨¦ u¸P. 

Sub. Code 
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7. What is principle agent relationship? 

 •u»õÎ – •PÁº EÓÄ•øÓ GßÓõÀ GßÚ? 

8. What is deferred revenue expenditure? 

 öuõhº Á¸Áõ´ ö\»Ä GßÓõÀ GßÚ? 

9. What is joint venture? 

 CønÂøn GßÓõÀ GßÚ? 

10. Write any two differences between joint venture and 
partnership accounting. 

 Cøn ÂønUS® Tmhõsø©US® EÒÍ ÷ÁÖ£õkPÒ 

H÷uÝ® CμsiøÚ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Prepare a trading for the year ended 31st December 
2013 from the following information: 

Particulars Amount in Rs

Opening stock 1,00,000

Purchase 5,00,000

Wages 25,000

Carriage inward 20,000

Salaries 60,000

Sales 10,00,000
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  RÌPõq® ÂÁμ[PøÍU öPõsk 31.12.2013–ØPõÚ 

Â¯õ£õμ PnUQøÚ u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

öuõhUP \μUQ¸¨¦ 1,00,000

öPõÒ•uÀ 5,00,000

T¼ 25,000

EÒ yUS T¼ 20,000

Fv¯® 60,000

ÂØ£øÚ 10,00,000

Or 

 (b) Explain the different accounting conventions. 

  PnUS¨£vÂß £À÷ÁÖ {¯vPøÍ ÂÁ›UPÄ®. 

12. (a) State the type of error involved in the following 
transactions and say whether it will affect the 
agreement of the trial balance or not. 

  (i) The sales book is undercast by Rs. 3,000. 

  (ii) The purchases book is overcast by Rs. 2,500. 

  (iii) The purchases return book is overcast by 
Rs.3,000. 

  (iv) The sales return book is overcast by Rs. 1500. 
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  RÌPõq® ¤øÇPÒ G¢u ÁøP¯õÚøÁ ÷©¾® AøÁ 

GÆÁõÖ C¸¨£õ´ÂøÚ uõUP® HØ£kzx®: 

  (i) ÂØ£øÚ Hk ¹.3000 SøÓ¢x ©v¨¤h¨£mhx 

  (ii) öPõÒ•uÀ Hk ¹.2500 Tku»õP  

©v¨¤h¨£mhx 

  (iii) öPõÒ•uÀ v¸¨£ Hk ¹.3000 Tku»õP 

©v¨¤h¨£mhx 

  (iv) ÂØ£øÚ v¸¨£ Hk ¹.1500 AvP©õP 

©v¨¤h¨£mhx 

Or 

 (b) Rectify the following errors: 

  (i) Purchases book is carried forward Rs.1050 
less. 

  (ii) Sales book total is carried forward Rs.2,000 
more. 

  (iii) A total of Rs.7,580 in the purchases book has 
been carried forward as Rs.8,570. 

  (iv) The total of the sales book Rs.9,550 on page 24 
was carried forward to page 25 as Rs.5,950. 

  RÌPõq® ¤øÇPøÍ \› ö\´P. 

  (i) öPõÒ•uÀ Hk ¹.1050 uÁÓõP PnUQh¨£mhx 

  (ii) ÂØ£øÚ Hk ¹.2000 AvP©õP PnUQh¨£mhx 

  (iii) öPõÒ•uÀ Hmiß ö©õzu ©v¨¦ ¹.7580 

uÁÖu»õP ¹.8570 BP PnUQh¨£mhx 

  (iv) ÂØ£øÚ Hmiß ö©õzu® ¹.9550, 24® 

£UPzv¾® 25–® £UPzvÀ ¹.5950 GÚ 

PnUQh¨£mhx 
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13. (a) Distinguish between Joint venture and partnership. 

  Cøn Âøn ©ØÖ® Tmhõsø© ÷ÁÖ£kzxP. 

Or 

 (b) Mr.X. purchased goods from Mr.Y on credit on 
1.4.2012 and Mr.Y draw a bill for a period of three 
months amounting to Rs.40,000 on Mr.X for the 
same, Mr.X accepts the same on a same date. The 
bill was duly honoured on date. You are required to 
prepare a necessary journal entries in the books of 
both the parties 

  v¸. X \μUS 1.4.2012 AßÖ v¸.Y °h® PhÚõP 

ö£ØÓx ‰ßÖ ©õu Põ»zvØS ©õØÖ^mk GÊu¨£mhx 

A÷u ÷uv°À v¸.X AÁºPÎh® J¨¦uÀ ö£Ó¨£mhx. 

÷©¾® E›¯ ÷|μzvÀ £n® ö\¾zu¨£mhx. AuØPõÚ 

£vÂøÚ C¸Á›ß HkPÎÀ Põs¤UPÄ®. 

14. (a) From the following details ascertain the amount of 
subscriptions to be credited to income and 
expenditure account for the year 2009. 
Subscriptions received in 2009-Rs.54,000 which 
include Rs.6,000 for 2008 and Rs.9,000 for 2010. 
Subscriptions due but not received at the end of the 
year 2009 were Rs.25,000. Subscriptions received in 
2008 in advance for 2009 were Rs.15000. 

  RÌUPõq® Â£μ[PøÍU öPõsk Á¸©õÚ® ©ØÖ® 

ö\»ÄUPnUQÀ 2009 ® BsiØPõÚ \¢uõ 

öuõøP°øÚ PnUQkP. 2009 ® BsiÀ \¢uõ ö£ØÓx 

¹.54,000/– AvÀ ¹.6000/– ©ØÖ® ¹.9,000/– •øÓ÷¯ 

2008 ©ØÖ® 2010 B® BsiØPõÚx. ÷©¾® 2008 

B® Bsiß •ßTmi¨ ö£ØÓ \¢uõ ¹.15,000/– 

BS® 2009 B® Bsk ö£Ó ÷Ási¯ \¢uõ 

¹.25,000/– BS®.  

Or 
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 (b) Compute the expenditure to be shown in Income 

and Expenditure account from the following: 

Particulars Rs. 

(i)  Sports materials purchased for cash 25,000

 Opening stock of sport materials 3,000

 Closing stock of sports materials 9,000

 Opening creditors for sports materials 11,000

 Cash paid to creditors for sports materials 25,000

 Closing creditors for sports materials 9,000

(ii)  Stationary purchased during the year 25,000

 Opening stock of stationary 6,000

 Closing stock of stationary 5,000

  RÌUPõq® Â£μ[PøÍU öPõsk Á¸©õÚ® ©ØÖ® 

ö\»ÄU PnUQøÚ u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

(i)  ÂøÍ¯õmk¨ö£õ¸mPÒ Áõ[Q¯x öμõUPzvØS 25,000

 ÂøÍ¯õmk¨ ö£õ¸mPÒ öuõhUPa \μUQ¸¨¦ 3,000

 ÂøÍ¯õmk¨ ö£õ¸mPÒ CÖva \μUQ¸¨¦ 9,000

 PhÜ¢÷uõº öuõhUP C¸¨¦ 11,000

 PhÜ¢÷uõ¸US ö\¾zv¯x 25,000

 CÖvU PhÜ¢÷uõº 9,000

(ii)  GÊx ö£õ¸mPÒ Áõ[Q¯x |h¨¦ Bsk 25,000

 öuõhUP C¸¨¦ (GÊxö£õ¸mPÒ) 6,000

 CÖv C¸¨¦ GÊxö£õ¸mPÒ 5,000
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15. (a) What do you know about donations on not for profit 

organization? How it will be treated into accounts? 

  C»õ£ ÷|õUP©ØÓ {ÖÁÚzvÀ |ßöPõøh £ØÔ } 

AÔÁÚ ¯õøÁ? Aøu GÆÁõÖ PnUQkÁõ´? 

Or 

 (b) R and S enter into joint venture to share the results 
as to 2:1 the joint venture transactions are as 
under: 

R Rs. S Rs. 

Goods supplied 70,000 40,000 

Expenses Paid 9,000 1,000 

Net sale proceeds
  

90,000 60,000 

  Show the journal entries and ledger accounts in the 

  R ©ØÖ® S CønÂøÚ öuõh[Q 2:1 GßÓ ÂQuzvÀ 

C»õ£ |mh[PøÍ £Qº¢x Á¢uÚº AÁºPÎß 

|hÁiUøPPÒ ¤ßÁ¸©õÖ 

R Rs. S Rs. 

\μUPÎzux 70,000 40,000 

ö\»ÄPÒ ö\´ux 9,000 1,000 

{Pμ ÂØ£øÚ 90,000 60,000 

  CuØPõÚ SÔ¨÷£k ©ØÖ® ÷£÷μmk¨ £vÄPøÍ 

C¸Á›ß HkPÎ¾® Põs¤UPÄ®. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. State the type of error involved in the following 
transactions and say whether it will affect the agreement 
of the trial balance or not. 

 (a) The sales book is under cast by Rs. 2,000. 

 (b) The purchases book is overcast by Rs. 1,500. 

 (c) The purchases return book is overcast by Rs.5,000. 

 (d) The sales return book is overcast by Rs. 1,000. 

 (e) Goods returned by Vani worth Rs.1,500 were not 
entered. 

 (f) Goods returned by Venu & Co. Rs.4,000 were not 
posted. 

 (g) Goods sold to Robin for Rs. 2,600 has been debited 
to Robert’s A/c. 

 (h) A credit sale to Basha for Rs. 3,500 was entered as 
Rs.5300. 

 (i) A purchase of Machinery for Rs.50,000 has been 
entered in the purchases book. 

 (j) A credit purchase from Senthil for Rs. 6,250 was 
debited to Santhosh’s A/c. from purchases book. 

 RÌPõq® ¤øÇPøÍ ÁøP¨£kzxÁ÷uõk Auß uõUP® 

C¸¨£õ´ÂÀ EÒÍuõ GÚU TÖP. 

 (A) ÂØ£øÚ Hk ¹.2,000 SøÓ¢x ©v¨¤h¨£mhx 

 (B) öPõÒ•uÀ Hk ¹.1500 AvP©õP Põs¤UP¨£mhx 

 (C) öPõÒ•uÀ v¸¨£ Hk ¹.5,000 AvP©õP 

Põs¤UP¨£mhx 

 (D) ÂØ£øÚz v¸¨£ Hk ¹.1,000 AvP©õP 

Põs¤UP¨£mhx 
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 (E) Áõo AÁºPÎhª¸¢x v¸¨¤ AÝ¨£¨£mh \μUS 

¹.1,500 £vÄ ö£ÓÂÀø» 

 (F) ÷Áq Aßm P®ö£Û AÁºPÎhª¸¢x v¸®£ 

ö£Ó¨£mh \μUS ¹.4,000 ÷£÷μmiÀ GÊu¨£hÂÀø» 

 (G) μõ¤ß AÁºPÐUS \μUS ÂØÓx ¹.2,600 Cμõ£ºm 

AÁºPÎß PnUQÀ £v¯¨ö£ØÓx 

 (H) £õmåõ AÁºPÎß Phß ÂØ£øÚ ¹.3,500 ©õÓõP 

¹.5,300 GÚ PnUQh¨£mhx 

 (I) C¯¢vμ® Áõ[Q¯x ¹.50,000 öPõÒ•uÀ HmiÀ £vÄ 

ö\´¯¨£mhx 

 (J) ö\¢vÀ AÁºPÎh® PhÛØS ¹.6250/– \μUS 

Áõ[Q¯x \¢÷uõè AÁºPÎß PnUQÀ öPõÒ•uÀ 

HmiÀ £ØÖ øÁUP¨£mhx. 

17. Prepare Trading, Profit & Loss A/c and Balance sheet 
from the following Trial Balance of Mr.Madan. 

Debit Balance Rs. Credit Balance Rs. 

Sundry debtors 92,000 Mandan’s Capital 70,000 

Plant and 
Machinery 

20,000 Purchase returns 2,600 

Interest 430 Sales 2,50,000

Rent, rates and 
taxes 

5,600 Sundry creditors 60,000 

Conveyance 
charges 

1,320 Banker overdraft 20,000 

Wages 7,000   

Sales returns 5400   
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Debit Balance Rs. Credit Balance Rs. 

Purchases 1,50,000   

Opening stock 60,000   

Drawings 22,000   

Trade expenses 1,350   

Salaries 11,200   

Advertising 840   

Discounts 600   

Bad debts 800   

Business premises 12,000   

Furniture 10,000   

Cash in hand 2,060   

 4,02,600  4,02,600

 Adjustments: 

 (a) Stock on hand 31-12-96 Rs.90000 

 (b) Provide depreciation on premium at 2.5%;  
Plant and Machinery at 7.5% and furniture at 10% 

 (c) Write off Rs.800 as further bad debts 

 (d) Provide for doubtful debts at 5% on sundry debtors 

 (e) Outstanding rent was Rs.500 and outstanding 
wages Rs.400 

 (f) Prepaid insurance Rs.300 and repaid salaries 
Rs.700. 
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 Â¯õ£õμ® ©ØÖ® C»õ£ |mhU PnUS ©ØÖ® C¸¨¦ {ø»U 

SÔ¨ø£ v¸. ©uß AÁºPÐUS RÌPõq® ÂÁμ[PøÍU 

öPõsk u¯õº ö\´P. 

£ØÖ C¸¨¦ ¹. ÁμÄ C¸¨¦  ¹. 

PhÚõÎPÒ 92,000 ©uß •uÀ 70,000

ö£õÔ ©ØÖ® 

C¯¢vμ® 

20,000 öPõÒ•uÀ v¸¨£® 2,600

Ámi 430 ÂØ£øÚ 2,50,000

ÁõhøP ©ØÖ® Á› 5,600 PhÜ¢÷uõº 60,000

£¯na ö\»Ä 1,320 Á[Q 

÷©ÀÁøμ¨£ØÖ 

20,000

T¼ 7,000  

ÂØ£øÚz v¸¨£® 5400  

öPõÒ•uÀ 1,50,000  

öuõhUPa \μUS 60,000  

Gk¨¦ 22,000  

Â¯õ£õμa 

ö\»ÄPÒ 

1,350  

Fv¯® 11,200  

ÂÍ®£μ® 840  

uÒÐ£i 600  

ÁõμõU Phß 800  

A¾Á»P® 12,000  
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£ØÖ C¸¨¦ ¹. ÁμÄ C¸¨¦  ¹. 

AøÓP»ß 10,000  

öμõUP® 2,060  

 4,02,600  4,02,600

 \›UPmkuÀPÒ 

 (A) CÖva \μUQ¸¨¦ 31.12.96 AßÖ ¹.90,000/-– 

 (B) ÷u´©õÚ® A¾Á»P® «x 2.5%, C¯¢vμ® – 7.5%, 
AøÓP»ß – 10% GÚU PnUQhÄ®. 

 (C) ÁõμõU Phß ¹.800 JxUSP. 

 (D) Áõμõ I¯UPhß 5% JxUSP 

 (E) öPõk£hõ ÁõhøP ¹.500/– ©ØÖ® öPõk£hõUT¼ 

¹.400/– 

 (F) •ßTmia ö\¾zv¯ Põ¨¥k ¹.300 ©ØÖ® Fv¯® 

¹.700/– 

18. For mutual benefit Ram accepted a bill for Rs.5000 
drawn by Balu on 1-7-2008 at three months. They agreed 
to share the benefit in the ratio of 2:1, Balu discounted 
the bill at 9% p.a. on the same day and remitted two third 
of the share to Ram. Before the due date ram drew a bill 
at three months for Rs.10,000 on Balu in order to provide 
funds to meet the first bill. The second bill was 
discounted for Rs.9750 on the same day. The first bill was 
met and remaining amount was shared between both the 
parties in the agreed ratio. Before maturity of the second 
bill Ram became bankrupt and Balu honored the bill and 
recovered 40 paise in the rupee for Ram estate. 

 Make necessary journal entries in the book of the both 
the parties and also open personal ledgers in their 
respective books. 
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 £μì£μ J¨£¢uzvÀ μõ® ©ØÖ® £õ¾ C¸Á¸® 1.7.2008 

AßÖ ¹.5000 ©v¨¤»õÚ ©õØÖa^miøÚ u¯õº ö\´uÚº. 

AuøÚ £õ¾ Á[Q°À 9% ÃuzvÀ PÈzux ÷£õP «v°À 

‰ßÔÀ Cμsk £[QøÚ μõ•ÂØS ÁÇ[QÚõº. 

öPk|õÐUS •ßÚuõP μõ• £õ¾ «x ¹.10,000 ©õØÖ^mk 

u¯õº ö\´x ÷©¾® A¢u ^mk ¹.9750–US 

£n©õUP¨£mhx. A÷u |õÎÀ •uÀ ©õØÖ^miß PÈÄ 

÷£õP «u•ÒÍ öuõøPø¯ C¸Á¸® \©©õP £Qº¢x 

öPõshÚº. •vØÂØS •ßÚuõP v¸. μõ• 

ö|õizuÁμõQÓõº. Auß ÂøÍÁõP AÁ›h•ÒÍ ¹.1 

PhÛØS 40 ø£\õ ©mk÷© ö£Ó C¯¾®. CÆÂÁμ[PøÍU 

öPõsk C¸Á›ß HkPÎ¾® ÷uøÁ¯õÚ £vÄPøÍ 

÷©ØöPõÒÍÄ®. 

19. Jiresh of Delhi consigned 300 nos of bicycle to narang of 
Chandigarh, invoiced at Rs.500 per Cycle. Jiresh paid 
Rs.2,000 as carriage and other expenses. The consignor 
drew a bill of exchange for Rs.1,60,000 which was later 
discounted at Rs.1,59,000 the consigness rendered an 
account sales showing the following details: 

 250 cycles sold at Rs.650 per cycle 

 20 cycles sold at Rs.640 per cycle 

 Storage and selling expenses Rs.50,000 

 Clearing and cartage Rs.16,000 

 Commission at 7% on sales 

 The consignee sent a sight draft for the balance 

 Show the entries and important ledger accounts in the 
books of both the parties. 

 â÷μè Gß£Áº öhÀ¼°¼¸¢x 300 ø\UQÒPøÍ |μ[ 

AÁºPÐUS  \siPõ›ØS ¹.500 ©v¨¤À AÝ¨¤Úõº. 

AuØPõÚ T¼¯õP ¹.2000 ö\¾zv²ÒÍõº. ÷©¾® Auß «x 

¹.1,60,000 US ©õØÖ^mk u¯õº ö\´x Á[Q°À PÈzux 

÷£õP 1,59,000. ÷©¾® AÝ¨¥mk ö£Ö|º ö\»ÁÈzu 

öuõøPPÒ ¤ßÁ¸©õÖ : 250 ø\UQÒ ÂØÓx ¹.650 Ãu® 
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JßÖUS 20 ø\UQÒ ÂØÓx ¹.640 Ãu® ø\UQÒ JßÖUS 

ÂØ£øÚa ö\»ÄPÒ ¹.50,000 

 Á›aö\»ÄPÒ ¹.16,000 

 PÈÄ 7% ÂØ£øÚ°À, AÝ¨¥mk ö£Ö|º «u•ÒÍ 

öuõøPø¯ Áøμ÷Áõø» ‰»® v¸¨¤ AÝ¨¤Úõº. 

÷uøÁ¯õÚ £vÄPøÍ²® •UQ¯ PnUSPøÍ²® C¸Á›ß 

HkPÎÀ Põs¤UPÄ®. 

20. A trader asks for your help in preparing an insurance 
claim in respect of stock-in trade destroyed by fire in his 
warehouse on June, 1, 1996. His books of accounts give 
the following information concerning trading account 
transactions for the period, January 1, 1996 at cost 
Rs.26000. 

Particulars Rs 

Debtors on 1-1-96 50,000

Debtors on 1-6-96 80,000

Cash received from debtors 60,000

Discount allowed to debtors 10,000

Cash purchases 10,000

Cash paid to supplies 67,000

Creditors on 1-1-96 16,000

Creditors on 1-6-96 18,500

  The rate of gross profit on cost is 25%. Calculate the 
amount of claim taking into account that goods 
salvaged from the fire were worth Rs.3,000. 
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  J¸ Â¯õ£õ› E[PÎh® w Põ¨¥mk öuõøP ö£ØÓøu 

£vÁuØPõÚ EuÂø¯ ö\´¯Ä®. áúß 1, 1996 AßÖ 

S÷hõÛÀ w Â£zx HØ£mhx. ÷©¾® 1.1.96 AßÖ 

•uÀ w Â£zx HØ£mh |õÒ Áøμ \μUS ©v¨¦ 

¹.26,000. 

ÂÁμ[PÒ ¹. 

PhÚõÎPÒ 1.1.96 AßÖ 50,000

PhÚõÎPÒ 1.6.96 AßÖ 80,000

öμõUP® ö£ØÓx 

PhÚõ°hª¸US 

60,000

uÒÐ£i AÎzux 10,000

öμõUP öPõÒ•uÀ 10,000

PhÜ¢÷uõ¸US ö\¾zv¯x  67,000

PhÜ¢÷uõº 1.1.96 16,000

PhÜ¢÷uõº 1.6.96 18,500

  ö©õzu C»õ£® 25% AhUPÂø»°À, 

  w Põ¨¥mk PnUQ¼¸¢x GkUP¨£mh ÷Põ›UøP 

öuõøPø¯ PnUQkP. w°¼¸¢x «mP¨£mh 

ö£õ¸Îß ©v¨¦ ¹.3000 BS®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Second Semester 

Corporate Secretaryship 

MANAGERIAL ECONOMICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Utility? 

 £¯ß£õk  GßÓõÀ GßÚ? 

2. Write a short note on marginal cost. 

 ÂÎ®¦{ø» AhUPa ö\»øÁ¨ £ØÔ Jº ]Ö SÔ¨¦ ÁøμP. 

3. Define law of demand. 

 ÷uøÁ Âv–Áøμ¯Ö. 

4. What is derived demand? 

 ö£Ó¨£mh ÷uøÁ  GßÓõÀ GßÚ? 

5. What do you mean by Duopoly? 

 C¸Áº •ØÖ›ø© Gß£uß ö£õ¸Ò ¯õx? 

6. What is meant by pricing policies? 

 Âø»°kuÀ öPõÒøPPÒ  GßÓõÀ GßÚ? 

Sub. Code 
7BCS2C1 
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7. Write a note on monopoly. 

 •ØÖ›ø© £ØÔ SÔ¨¦ GÊxP. 

8. What is cyclical pricing? 

 _ÇØ] Âø»  GßÓõÀ GßÚ? 

9. What is inflation? 

 £nÃUP®  GßÓõÀ GßÚ? 

10. Write short notes on business cycle. 

 ÁoP _ÇØ] £ØÔ SÔ¨¦ ÁøμP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between managerial economics and 
economics. 

  ö£õ¸Î°¯À ©ØÖ® ÷©»õsø© ö£õ¸Î°¯À 

÷ÁÖ£kzxP. 

Or 

 (b) What are the characteristic of managerial 
economics? 

  ÷©»õsø© ö£õ¸Î¯¼ß £s¦PÒ ¯õøÁ? 

12. (a) Write the assumptions of law of demand. 

  ÷uøÁ Âv°ß Gk÷PõÒPøÍ¨ £ØÔ GÊxP. 

Or 

 (b) What are the various types of demand elasticity? 

  ÷uøÁ ö|QÌa]°ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 
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13. (a) State the features of perfect competition. 

  {øÓÄ¨ ÷£õmi°ß C¯À¦PøÍ u¸P. 

Or 

 (b) Describe the various forms of monopoly. 

  •ØÖ›ø©°ß £À÷ÁÖ ÁiÁ[PøÍ ÂÁ›. 

14. (a) Explain the role of cost in pricing. 

  Âø»°ku¼À AhUPÂø»°ß £[PÎ¨ø£ ÂÁ›. 

Or 

 (b) What are the various objectives of pricing policy? 

  Âø»°hÀ öPõÒøP°ß £À÷ÁÖ ÷|õUP[PÒ ¯õøÁ? 

15. (a) What are the advantages of inflation? 

  £nÃUPzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the different phases of business cycle? 

  ÁoPa _ÇØ]°ß £À÷ÁÖ £i{ø»PÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the basic concepts of managerial economics. 

 ÷©»õsø© ö£õ¸Î¯¼ß Ai¨£øhU P¸zxPøÍ ÂÁ›. 

17. Why do demand curve slopes downwards? 

 ÷uøÁ ÁøÍÄ÷Põk RÌ÷|õUQ ö\ÀÁx GuÚõÀ? 

18. Explain the various types of market. 

 \¢øu°ß ÁøPPøÍ ÂÁ›. 
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19. Discuss about general consideration for formulating the 

price policy. 

 Âø»°hÀ vmhzvøÚ E¸ÁõUS® ö£õÊx ö£õxÁõP 

P¸zvÀ öPõÒÍ PõμoPøÍ £ØÔ ÂÁõv. 

20. Analyze the effects of deflation on different sectors of the 
economy. 

 ö£õ¸Íõuõμzvß £À÷ÁÖ xøÓPÎÀ £nÁõmhzvÚõÀ 

HØ£k® ÂøÍÄPøÍ Bμõ´P. 

—————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Second Semester 

Corporate Secretaryship 

FINANCIAL ACCOUNTING — II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is conversion of single entry system? 

 JØøÓ £vÄ ©õØÖ •øÓ GßÓõÀ GßÚ? 

2. How will you calculate the closing capital in single entry 
system? 

 JØøÓ £vÄ •øÓ°À CÖv •uÀ GßÓõÀ GßÚ? 

3. Brief the term “Cost price”. 

 AhUPÂø» GßÓõÀ GßÚ? 

4. State the meaning of independent branch. 

 \õº£ØÓ QøÍ°ß Aºzu® u¸P. 

5. What do you know about unsecured creditors? 

 £õxPõ¨£ØÓ PhÜ¢÷uõº £ØÔ } AÔÁÚ ¯õøÁ? 

Sub. Code 
7BCS2C2 
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6. How will you calculate preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº GÆÁõÖ PnUQkÁõ´? 

7. What is recoupment of shortworkings? 

 £ØÓõUSøÓ v¸®£ö£ÓÀ GßÓõÀ GßÚ? 

8. What do you know about minimum rent? 

 SøÓ¢u£m\ ÁõhøP £ØÔ } AÔÁÚ ¯õøÁ? 

9. Bring out meaning of cash price and hire purchase price. 

 ÁõhøP öPõÒ•uÀ Âø» ©ØÖ® öμõUP Âø» GßÓõÀ 

GßÚ? 

10. Write a few line on down payment. 

 •ß£n® £ØÔ K›¸Á›PÒ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain the various processes involved in 
calculation of profit under networth method. 

  {Pμ©v¨¦ •øÓ°À C»õ£® PnUQkÁvÀ EÒÍ 

£À÷ÁÖ £i{ø»PøÍ ÂÍUSP. 

Or 

 (b) Prepare a statement of Profits and Loss from the 
following information. Capital as on 01.01.2016  
Rs. 2,00,000 and 31.12.2015 Rs. 6,00,000. Drawings 
during the year Rs. 2,000 per month and the 
additional capital introduced during the year  
Rs. 50,000. 

  RÌPõq® ÂÁμ[PøÍ öPõsk »õ£|mh AÔUøP 

u¯õº ö\´P. 01.01.2016 •uÀ ¹. 2,00,000 ©ØÖ® 

31.12.2015 •uÀ ¹. 6,00,000. Gk¨¦ ¹. 2,000 

©õuzvØS TkuÀ •uÀ öPõkzux ¹. 50,000. 
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12. (a) Detail the various methods in branch accounting. 

  QøÍ PnUQß £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 

 (b) Lion ltd. Calcutta has a branch at Delhi. It invoices 
goods to the branch at selling which is cost plus 
25%. From the following particulars prepare branch 
account. 

  Stock on 1st Jan 2008 (invoice price) – Rs. 20,000 

  Debtors on 1st Jan 2008 – Rs. 12,000 

  Goods invoiced to branch during the year at invoice 
price – Rs. 75,000 

  Sale at branch (Cash – Rs. 60,000 + credit –  
Rs. 40,000) – Rs. 1,00,000 

  Cash received from debtors – Rs. 50,000 

  Discount allowed to customers – Rs. 500 

  Cheque sent to branch – (Salaries + Sundry 
expenses) – Rs. 7,500 

  Stock on 31st Dec 2008 (invoice price) – Rs. 15,000. 

  ø»¯ß {Ö©® PÀPzuõ öhÀ¼°À QøÍ 

öPõskÒÍx. AhUPÂø» + 25%À \μUS 

AÝ¨¤¯uß ÂÁμ® ¤ßÁ¸©õÖ : 

  \μUQ¸¨¦ 1st áÚÁ› 2008 (Chõ¨¦ Âø») – ¹. 20,000 

  PhÚõÎPÒ 1st áÚÁ› 2008 – ¹. 12,000 

  \μUS AÝ¨¤¯x – ¹. 75,000 

  QøÍ ÂØ£øÚ (öμõUP® ¹. 60,000 + Phß – ¹. 40,000) 

– ¹. 1,00,000 

  PhÚõÎ°h® öμõUP® ö£ØÓx – ¹. 50,000 

  uÒÐ£i PhÚõÎUS ÁÇ[Q¯x – ¹. 500 
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  Põ÷\õø» QøÍUS AÝ¨¤¯x – (\®£Í® ©ØÖ® Cuμ 

ö\»ÄPÐUPõP) – ¹. 7,500 

  \μUQ¸¨¦ 31st i\®£º 2008 (Chõ¨¦ Âø») –  

¹. 15,000 

  QøÍ PnUQøÚ u¯õº ö\´P. 

13. (a) What do you know about Presidential Towns 
Insolvency Act? Explain. 

  ©õ{» |Pμ ö|õia \mhzvøÚ £ØÔ } AÔÁÚ ¯õøÁ? 

Or 

 (b) Mr. Kamal filled his petition for insolvency on 31st 
December 2004. The details of outstanding expenses 
are as follows : 

  (i) Salaries of 7 clerks @ Rs. 200 per month for 
each clerk for 2 months. 

  (ii) Wages outstanding 2004 Rs. 150 

  (iii) Wages of 8 labourer for the month of 
September 2004 @ Rs.100 per labourer 

  (iv) Rent of landlord for the months of November 
and December 2004 Rs. 700 

  (v) Amount due to the income tax department  
Rs. 3,000 and to the sales tax department  
Rs. 2500  

  (vi) Salaries of two clerks for the month of July 
2003 Rs. 450 each 

   You are required to find out the amount of 
preferential and non preferential creditors 
according to Presidency Towns insolvency Act. 
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  v¸. P©À 31st i\®£º 2004 AßÖ ö|õizuÁº GÚ 

AÔÂUP¨£mhõº. AÁ¸øh¯ PhßPÒ ¤ßÁ¸©õÖ : 

  (i) 7  GÊzu¸US ¹. 200 Ãu® Cμsk ©õu £õUQ. 

  (ii) T¼ öPõk£hõux 2004 ¹. 150 

  (iii) ö\¨h®£º 2004&À 8 öuõÈ»õÍºPÐUS T¼ 

ÁÇ[P ÷Ási¯x ¹. 100 J¸  |£¸US 

  (iv) ¹. 700 |Á®£º ©ØÖ® i\®£º 2004&UPõÚ 

ÁõhøP uμ÷Ási¯x 

  (v) Á¸©õÚÁ›  ¹. 3,000 ©ØÖ® ÂØ£øÚ Á›  

¹. 2,500 ö\¾zuõux. 

  (vi) Cμsk GÊu¸US áüø» 2003 J¸ ©õu \®£Í 

£õUQ ¹. 450 |£¸US 

   •ßÝ›ø© ©ØÖ® •ßÝ›ø© AØÓ PhÜ¢÷uõº 

PnUøP ©õ{»&|Pμ  ö|õia \mhzvß£i 

PnUQkP. 

14. (a) From the following details prepare journal entries 
relating to royalty in the books of Dinakar: 

  Landlord: Galaoxy coal mines 

  Lease period: 25 years 

  Lease amount: Re.1 per ton 

  Minimum rent : Rs. 15,000 

  Short working recovery: first 3 years 

  Production:  

  1997-8000 tons 

  1998-13000 tons 

  1999 -21000 tons 

  2000-18000 tons 
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  RÌPõq® ÂÁμ[PøÍ öPõsk Põ¨¦›ø© öuõøP 

PnUQkP. 

  E›ø©¯õÍº P»õ] {»UP› _μ[P® 

  SzuøP Põ»®: 25 BskPÒ 

  SzuøP öuõøP ¹. 1 hß JßÖUS 

  SøÓ¢u£m\ ÁõhøP ¹. 15,000 

  £ØÓõUSøÓ v¸®£ö£Ö® Põ»® : •uÀ ‰ßÖ 

BskPÒ 

  EØ£zv : 

  1997-8000 tons 

  1998-13000 tons 

  1999 -21000 tons 

  2000-18000 tons 

Or 

 (b) A company leased a coal mine on 1.1.2002 at a 
minimum rent of Rs. 25,000 merging into royalty of 
Rs. 1.60 per tone with the recoup shortworkings 
over the first four years of the lease. The output of 
the coal mine for the first four years was 8000 
tones, 13000 tones, 16000 tons respectively. Give 
journal entries and ledger accounts for four years in 
the books of lessee. 

  1.1.2002 {»UP› _μ[P® SzuøPUS Âmhx. 

SøÓ¢u£m\ ÁõhøP¯õP ¹. 25,000, ¹. 1.60 

Põ¨¦›ø©¯õP hß JßÔØS PnUQh¨£mhx. •uÀ 

|õßS BskPÐUS £ØÓõUSøÓ PnUQh¨£kQÓx. 

{»UP› Gk¨¦ •øÓ÷¯ 8000 hß, 13000 hß,  

16000 hß ÷uøÁ¯õÚ SÔ¨÷£k ©ØÖ® £vÄPøÍ 

u¯õº ö\´P.  
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15. (a) Vimal purchases a Radio Set on hire-Purchase basis 

for Rs. 500 and makes the payment in the following 
order : 

  Down payment – Rs. 100 

  1st installment after one year of agreement –  
Rs. 100 

  2nd installment after two years of the agreement –
Rs. 200 

  3rd installment after three years of the agreement – 
Rs. 100 

  The cash price of the Radio set Rs. 430, prepare 
necessary ledgers in the books of hire vendor. 

  Â©À ÁõöÚõ¼ JßÔøÚ ÁõhøP öPõÒ•uÀ 

•øÓ°À ¹. 500US ¤ßÁ¸©õÖ Áõ[QÚõº. 

  •ß£n® – ¹. 100 

  •uÀ uÁøn – ¹. 100, Kμõsk J¨£¢uzvØS ¤ÓS 

  CμshõÁx uÁøn – ¹. 200, Cμshõsk 

J¨£¢uzvØS ¤ÓS 

  ‰ßÓõÁx uÁøn – ¹. 100, ‰ßÓõ©õsk 

J¨£¢uzvØS ¤ÓS 

  ÁõöÚõ¼°ß öμõUP Âø» ¹. 430. ÷uøÁ¯õÚ 

PnUSPøÍ u¯õº ö\´P. 

Or 

 (b) Discuss the process of repossession in hire purchase 
system. 

  ÁõhøP öPõÒ•uÀ •øÓ°À \μUQøÚ v¸¨¤ 

GkzuÀ •øÓ°øÚ ÂÁ›. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Mr. X has maintained his books by single entry method. 
From the following details calculate profit for the year 
and statement of affairs at the end of the year. Rs. 1,000 
(cost) furniture was sold for Rs. 5,000 on 1.1.98. 10% 
depreciation is to be charged on furniture. Mrs. X has 
drawn Rs. 1,000 p.m. Rs. 2,000 was invested by Mr. X in 
1998 as further capital. 

Particulars 1.1.1998 (Rs.) 31.12.1998 (Rs.)  
Stock 40,000 60,000  
Debtors 30,000 40,000  
Cash 2,000 1,000  
Bank 10,000 7,000 (overdraft)
Creditors 15,000 25,000  
Outstanding expenses 5,000 8,000  
Furniture (cost) 3,000 2,000  

 v¸. X AÁμx PnUQøÚ JØøÓ¨ £vÄ •øÓ°À 

¤ß£ØÖQÓõº. »õ£|mh PnUQøÚ u¯õº ö\´P. ¹. 1,000 

©v¨¦ÒÍ AøÓP»ß ÂØÓx ¹. 5,000 1.1.98 AßÖ 

AøÓP»ß «x 10% ÷u´©õÚ® }USP. v¸. X ©õu® ¹. 1,000 

ö\õ¢u ÷uøÁUS Gkzuõº. TkuÀ •u»õP ¹. 2,000 

AÎzuõº. 

ÂÁμ® 1.1.1998 (¹.) 31.12.1998 (¹.)  

\μUQ¸¨¦ 40,000 60,000  

PhÚõÎPÒ 30,000 40,000  

öμõUP® 2,000 1,000  

Á[Q 10,000 7,000 (overdraft)

PhÜ¢÷uõº 15,000 25,000  

öPõk£hõ ö\»ÄPÒ 5,000 8,000  

AøÓP»ß 3,000 2,000  
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17. Jawahar of Calcutta has a branch at Mumbai to which 

good are sent at cost price to be sold for cash and credit. 
Transactions during the year were as under : 

 Branch stock at cost as on 1.1.2014 – Rs. 10,000 

 Branch debtors as on 1.1.2014 – Rs. 4,000 

 Branch bank balance as on 1.1.2014 – Rs. 3,800 

 Transaction during 2014: 

 Goods sent to branch at cost –  Rs. 20,000 

 Goods return by branch (at cost) – Rs. 330 

 Cash sales paid into bank – Rs. 5,800 

 Credit sales – Rs. 35,000 

 Goods return by customers at selling price – Rs. 300 

 Cheques received from credit customers – Rs. 20,000 

 Discount allowed to customers – Rs. 450 

 Bad debts written off – Rs. 160 

 Cash remitted to H.O by branch – Rs. 40,000 

 Expenses paid by branch : 

 Wages and salaries – Rs. 400 

 Rent, Tax and insurance paid by H.O – Rs. 500 

 Balance as on 31.12.2014 : 

 Branch stock (at cost) – Rs. 6,500 

 Prepare branch stock account. 

 áÁíº PÀPzuõÂ¼¸¢x •®ø£°À EÒÍ QøÍUS \μUS 

AÝ¨¤¯ ÂÁμ® ¤ßÁ¸©õÖ : 

 öuõhUP \μUQ¸¨¦ 1.1.2014 AßÖ – ¹. 10,000 

 PhÚõÎPÒ 1.1.2014 AßÖ – ¹. 4,000 

 Á[Q C¸¨¦ 1.1.2014 AßÖ – ¹. 3,800 

 2014 BsiÀ |hÁiUøPPÒ ¤ßÁ¸©õÖ : 
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 QøÍUS AhUPÂø»°À \μUS AÝ¨¤¯x –  ¹. 20,000 

 QøÍ°¼¸¢x v¸¨¤ AÝ¨¤¯x (AhUP Âø») – ¹. 330 

 öμõUP ÂØ£øÚ Á[Q°À ö\¾zv¯x – ¹. 5,800 

 Phß ÂØ£øÚ – ¹. 35,000 

 ÁõiUøP¯õÍº v¸¨¤ AÝ¨¤¯x – ¹. 300 

 PhÚõÎPÎh® C¸¢x Põ÷\õø» ö£ØÓx – ¹. 20,000 

 ÁõiUøP¯õÍºPÐUS uÒÐ£i AÎzux – ¹. 450 

 ÁõμõUPhß AÎzux – ¹. 160 

 uø»ø©US öμõUP® v¸¨¤ AÝ¨¤¯x – ¹. 40,000 

 QøÍ ‰»® ö\´u ö\»ÄPÒ : 

 T¼ ©ØÖ® \®£Í® – ¹. 400 

 ÁõhøP, Á› ©ØÖ® Põ¨¥k uø»ø© ‰»® AÎzux –  
¹. 500 

 C¸¨¦ 31.12.2014 : 

 \μUS – ¹. 6,500 

 QøÍ PnUQøÚ u¯õº ö\´P. 

18. A trade became insolvent on 1.1.2012. on that date his 
total assets were Rs. 9,700 and his liabilities Rs. 10,500 
and estimated deficiency of Rs. 3,000 before taking the 
following items into consideration. 

 (a) Interest on capital of Rs. 500 for one year at 5% p.a. 

 (b) Liability on bills discounted Rs. 400 on bills 
discounted by him Rs. 750 

 (c) Outstanding expenses for wages etc. to be treated as 
preferential Rs. 440. 

  Prepare a statement of affairs and deficiency a/c on 
the basis of data given above. 
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 1.1.2012 AßÖ Â¯õ£õ› J¸Áº ö|õizuÁº BP 

AÔÂUP¨£mhõº. AÁ¸øh¯ ö©õzu ö\õzxUPÒ ¹. 9,700 

©ØÖ® ö£õÖ¨¦PÒ ¹. 10,500. ÷©¾® {ºn°UP¨£mh 

£ØÓõUSøÓ ¹. 3,000 ¤ßÁ¸®  \›PmkuÀPøÍ AÝ\›US® 

•ß¦ PnUQh¨£mhx. 

 (A) •uÀ «x Ámi ¹. 500 5% BskUS 

 (B) ö\.©õ.^mk «uõÚ ö£õÖ¨¦ ¹. 400 

 (C) öPõk£hõ T¼ •ßÝ›ø©¯õP PnUQh¨£mhx  

¹. 440. 

  {ø» SÔ¨¦ £ØÓõUSøÓ PnUQøÚ PnUQkP. 

19. Rakesh took a mine on lease. the dead rent was Rs. 900 a 
year, merging into a royalty of 40 paise per tone of coal 
raised, with the right to recover shortworkings out of 
royalties of two subsequent years from the period in 
which the shortworkings arose. The output raised were: 

 I year – 1000 tonnes 

 II year – 1500 tonnes 

 III year – 2300 tonnes 

 IV year –1700 tonnes 

 V year – 1100 tonnes 

 Give the necessary ledger A/c for each of the five years in 
the books of Rakesh. 

 μõ÷Pè _μ[P SzuøP GkzuvÀ ¹. 900 SøÓ¢u 

ÁõhøP¯õPÄ®, hß JßÖUS 40 ø£\õ Põ¨¦›ø© 

öuõøP¯õP ÁÇ[P J¨¦ öPõÒÍ¨£mhx. ÷©¾® £ØÓõUSøÓ 

öuõøP°øÚ ¤ßÁ¸® Cμsk BskPÐUS ÁÇ[P •iÄ 

ö\´¯¨£mhx _μ[P EØ£zv ¤ßÁ¸©õÖ : 
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 I Bsk – 1000 hß 
 II Bsk – 1500 hß 
 III Bsk – 2300 hß 
 IV Bsk –1700 hß 
 V Bsk – 1100 hß 
 μõ÷Pè AÁºPÎß I¢x BskPÐUPõÚ ÷£÷μkPøÍ u¯õº 

ö\´P. 

20. On 1st April, 2008, Ashok acquired machinery on hire 
purchase system from Modmac Ltd., agreeing to pay four 
annual instalments of Rs. 60,000 each payable at the end 
of each year. There is no down payment. Interest is 
charged @ 20% per annum and is included in the annual 
instalments. Because of financial difficulties, Ashok, after 
having paid the first and second instalments, could not 
pay the third yearly instalment due on 31st March, 2011, 
whereupon the hire vendor repossessed the machinery. 
Ashok provides depreciation on the Machinery @ 10% per 
annum according to the written down value method. He 
closes his books of account every year on 31st March. 

 Show Machinery Account and the account of Modmac 
Ltd. for all the years in the books of Ashok. 

 1st H¨μÀ, 2008 A÷\õU C¯¢vμ® ÁõhøP öPõÒ•uÀ 

•øÓ°À ÷©õm÷©U ¼m. C¸¢x |õßS Á¸h uÁøn°À  

¹. 60,000 Á¸hzvØS Ámi Em£h ÁÇ[P J¨£¢u® 

÷£õh¨£mhx. Ámi BskUS 20% PnUQh¨£mhx. 

A÷\õU uÚx C¯¢vμzvØS 10% ÷u´©õÚ® BskUS 

SøÓ¢x ö\À ©v¨¦ •øÓ°À PnUQh¨£kQÓx. 

•ß£n©õP Gkzx® ö\¾zu¨£hÂÀø». ÷©¾® AÁμõÀ 

‰ßÓõÁx uÁøn²® ö\¾zu C¯»ÂÀø». GÚ÷Á 

C¯¢vμ©õÚx ÷©õm÷©U ¼m BÀ øP¨£ØÓ¨£mhx. A÷\õU 

uÚx PnUSPøÍ JÆöÁõ¸ Bsk 31 ©õºa]À •iUQÓõº. 

A÷\õU  AÁºPÎß HkPÎÀ C¯¢vμPnUS ©ØÖ® 

÷©õm÷©U ¼m PnUQøÚ u¯õº ö\´P.  

———————— 
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B.Com.(CS) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 

Corporate Secretaryship  

COMPANY LAW AND SECRETARIAL PRACTICE — I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define the term Company. 

 {ÖÁÚ® GßÓ £uzvøÚ Áøμ¯Ö. 

2. Who is called ‘Promoters’? 

 ÷uõØÖÂ¨£Áº Gß£Áº ¯õº?  

3. What is Prospectus? 

 uPÁ»ÔUøP GßÓõÀ GßÚ? 

4. Who are liable for mis-statement in prospectus? 

 uÁÓõÚ uPÁÔUøPUS ö£õÖ¨£õÍº ¯õº? 

5. What do you mean by Preference shares? 

 •ßÝ›ø© £[SPÒ SÔzx }Ãº AÔÁx ¯õx? 

6. What is minimum subscription? 

 SøÓ¢u£m\ \¢uõ GßÓõÀ GßÚ? 

Sub. Code 
7BCS3C1 
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7. State the qualifications of a Company Secretary. 

 {Ö©a ö\¯»›ß uSvPøÍU SÔ¨¤kP. 

8. Who is appointing Secretary for a Company? 

 J¸ {ÖÁÚzvß ö\¯»øμ {¯©Ú® ö\´£Áº ¯õº? 

9. What do you mean by borrowing power? 

 Phß Áõ[S® \Uv £ØÔ }Ãº AÔÁx ¯õx? 

10. What is secured debentures? 

 £õxPõUP¨£mh Phß £zvμ[PÒ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the documents to be submitted at the time 
of registration of Company? 

  {ÖÁÚ £vÄ ö\´²® ÷|μzvÀ ÷uøÁ¨£k® 

BÁn[PÒ ¯õøÁ? 

Or 

 (b)  Differentiate between private company and public 
company. 

  uÛ¯õº {ÖÁÚ® ©ØÖ® ö£õx {ÖÁÚ® ÷ÁÖ£kzxP. 

12. (a) State the Secretarial procedure in relation to 
preparation of prospectus. 

uPÁ»ÔUøPø¯ u¯õ›¨£vÀ ö\¯»›ß 

|hÁiUøPPøÍU SÔ¨¤kP. 

Or 

 (b) State the significance of prospectus. 

  uPÁ»ÔUøP°ß •UQ¯zxÁzøuU SÔ¨¤kP. 



F–2453 

  

  3

sp 4
13. (a) Explain the provisions regarding issue of shares to 

public. 

ö£õx©UPÐUS £[SPøÍ öÁÎ°kÁvÀ EÒÍ 

ÂvPøÍ ÂÍUSP 

Or 

 (b)  What are conditions for issue of right shares? 

  E›ø©¨ £[SPøÍ öÁÎ°kÁvÀ EÒÍ 

Âv•øÓPøÍ ¯õøÁ? 

14. (a) Explain the Duties of a Secretary. 

{Ö©a ö\¯»›ß Phø©PÒ ÂÍUSP. 

Or 

 (b)  List out the liabilities of Company Secretary. 

  {Ö©a ö\¯»›ß ö£õÖ¨¦PøÍ Á›ø\£kzxP. 

15. (a) What are the features of Debentures? 

PhÜmk £zvμ[PÎß C¯À¦PÒ ¯õøÁ? 

Or 

 (b)  Explain the limits of accepting deposits as 

prescribed under the Companies Rules. 

  øÁ¨¦PøÍ HØ£vÀ EÒÍ Áμ®¦PøÍ {Ö© 

ÂvPÎß£i ÂÍUSP.  
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the steps in incorporation of a Company. 

{ÖÁÚ £vÄ ö\´²® |øh•øÓPøÍ ÂÍUSP. 

17. Explain the legal provisions relating to issue and 
registration of a prospectus. 

uPÁ»ÔUøP öÁÎ°kuÀ ©ØÖ® £vÄ ö\´ÁvÀ EÒÍ \mh 

ÂvPøÍ ÂÍUSP. 

18. What are the duties of the Company Secretary with 
regard to issue of bonus shares. 

FUP¨ £[SPøÍ öÁÎ°kÁvÀ {Ö©a ö\¯»›ß Phø©PÒ 

¯õøÁ? 

19. Explain the Powers of a Company Secretary. 

J¸ {Ö© ö\¯»›ß AvPõμ[PøÍ ÂÍUSP. 

20. Give similarities and distinction between a share holder 
and a debenture holder. 

 PhÜmk¨ £zvμ[PøÍ øÁzv¸¨£ÁºPÐUS®, £[SPøÍ 

øÁzx C¸¨£ÁºPÐUS® EÒÍ JØÖø©PøÍ²® 

÷ÁØÖø©PøÍ²® u¸P. 

––––––––– 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Third Semester 

Corporate Secretaryship 

PARTNERSHIP ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is partnership deed? 

 Tmk £[S £zvμ® GßÓõÀ GßÚ? 

2. What is sacrificing ratio? 

 v¯õP £[Rk GßÓõÀ GßÚ? 

3. What do mean by fixed and fluctuating capital? 

 {ø»¯õÚ HØÓzuõÌÄ ‰»uÚ® GßÓõÀ GßÚ? 

4. What is meant by admission of a partner? 

 ÷\ºUøP £[Suõμº GßÓõÀ GßÚ? 

5. What is revaluation A/c? 

 ©Ö©v¨¥k PnUS GßÓõÀ GßÚ? 

6. What do you know about goodwill? 

 |ß©v¨¦ GßÓõÀ GßÚ? 

Sub. Code 
7BCS3C2 
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7. What is executor account of a partner? 

 PnUS {øÓ÷ÁØÖ® Tmk£[Suõμº GßÓõÀ GßÚ? 

8. What is retirement of partnership? 

 J´Ä ö£Ö® Tmk £[Suõμº ¯õº? 

9. What do you know about the maximum loss method of 
distribution? 

 AvP¨£i¯õÚ |mh•øÓ £Qº¢uÎzuÀ GßÓõÀ GßÚ? 

10. What is dissolution of a firm? 

 {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Differentiate between fixed and fluctuating capital. 

   {ø»¯õÚ ©ØÖ® HØÓzuõÌÂß ‰»uÚ® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the importance of profit and loss 
appropriation account in partnership firm. 

   Tmk£[S {Ö©zvß C»õ£ ©ØÖ® |mh 

ö£õ¸¢u¨£õk PnUQß •UQ¯zxÁ®? 

12. (a) X and Y are partners in a firm. X is to get a 
commission of 10% of net profit before charging any 
commission. Y is to get a commission of 10% on net 
profit after charging all commission. Net profit for 
the year ended 31st March 2014 before charging any 
commission was Rs. 1,10,000. Find the commission 
of X and Y. Also show the distribution of profit. 
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   X ©ØÖ® Y {Ö© TmhõÎPÒ. X Gß£Áº Pªåß 10% 

•ß{Pμ »õ£zvÀ C¸¢x ö£ØÓõº. Y Gß£Áº ¤ß {Pμ 

»õ£zvÀ C¸¢x 10% ö£ØÓõº. {Pμ »õ£® 31 ©õºa 

2014 •ßö£¸® Pªåß ¹. 1,10,000/- X ©ØÖ® Y US 

PnURk C»õ£ AÍÄ® £Qº¢x. 

Or 

 (b) A, B and C are Partners in a firm sharing Profit and 
Losses in the ratio 2 : 3 : 5. Their fixed capitals were 
3,00,000; 6,00,000; and 1,20,000 respectively for the 
year 2014 interest on capital credited to them  
@ 12% instead of 10%. Pass the necessary 
adjustment entry.  

   A, B ©ØÖ® C ‰Á¸® TmhõÎPÒ C»õ£ ©ØÖ® |èh 

£[Rk 2 : 3 : 5. {ø»¯õÚ •uÀ 3,00,000; 6,00,000; 

©ØÖ® 1,20,000 GÝ® Ai¨£øh°À 2014. •uÀ 

öuõøPUPõÚ Ámi 12% £v»õP 10% \®£¢u¨£mh 

SÔ¨¦ ÁøμP. 

13. (a) Capital of the firm Sharma and Verma is  
Rs. 4,00,000 and the market rate of interest is 15%. 
Annual salary to partners is Rs. 2,400 each. The 
profit for the last three years were Rs. 1,20,000,  
Rs. 1,44,000 and Rs. 1,68,000. Goodwill is to valued 
at 2 years purchase of last 3 years average super 
profit. Calculate the Goodwill of the firm.                        

   \º©õ ©ØÖ® öÁº©õ •uÀ öuõøP ¹. 4,00,000/– \¢øu 

©v¨¥k 15% Ámi. Bsk \®£Í® TmhõÎUS  

¹. 2,400/– Ãu®. Ph¢u ‰ßÖ BskPÎß C»õ£®  

¹. 1,20,000/–, ¹. 1,44,000/– ©ØÖ® ¹.  1,68,000/– 

|ß©v¨¦ 2 BskUS, öPõÒ•uÀ \μõ\›¯õP  

3 BskUS® AvP C»õ£®. {ÖÁÚzvß |ß©v¨ø£ 

PõsP. 

Or 
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 (b) X and Y are partners sharing profits in 5 : 3 ratio 
admitted Z for 1/10th share which he acquired 
equally for X and Y. Calculate new profit sharing 
ratio. 

   X ©ØÖ® Y TmhõÎPÒ £[Rk® C»õ£®  5 : 3. Z 

Gß£Áøμ AÝ©vzx 1/10 \©©õP Áõ[Q¯x X ©ØÖ® 

Y. ¦v¯ C»õ£ £[Rk TÔzx PõsP. 

14. (a) Aparna, Manisha and Sonia are partners sharing 
profits in the ratio of 3 : 2 : 1. Manisha retires and 
goodwill of the firm is valued at Rs. 1,80,000. 
Aparna and Sonia decided to share future in the 
ratio of 3 : 2. Pass necessary Journal entries. 

   A£ºnõ, ©Ûåõ ©ØÖ® ÷\õÛ¯õ ‰Á¸® TmhõÎPÒ 

£[Rk •øÓ 3 : 2 : 1. ©Ûåõ J´Ä ö£ØÓõº. 

{ÖÁÚzvß |ß©v¨¦ ¹. 1,80,000. A£ºnõ ©ØÖ® 

÷\õÛ¯õ •iÄPÎß £i 3 : 2 SÔ¨÷£k GÊxP. 

Or 

 (b) If profit till the date of death are to be ascertained  
A, B and sharing profit in the ratio of 2 : 2 : 1.  
B died on 31st March 2014, Accounting are closing 
on December sales for the year 2013 amounted to  
Rs. 9,00,000, sales of Rs. 3,00,000 amounted 
between the period from 1 Jan 2014 to 31 March 
2014. The profit for the year 2013 amounted to  
Rs. 90,000, Calculate deceased partner's share in 
the Profit of the firm. 

   AÖv°mh C»õ£® ©μn® Aøh¢uvÚ® Áøμ A, B 

Gß£Áº C»õ£ £QºÄ 2 : 2 : 1. B Gß£Áº 31 ©õºa 2014 

C¯ØøP G´vÚõº. CÖvPnUS •iÄ i\®£º 2013 

ÂØ£øÚ ¹. 9,00,000/–. 1 áÚÁ› 2014 •uÀ 31 ©õºa 

2014 Áøμ ÂØ£øÚ ¹. 3,00,000. 2013® Bsiß 

C»õ£® ¹. 90,000/– CÓ¢u TmhõÎ°ß C»õ£ 

£[QøÚ PnUQkP. 
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15. (a) A, B and C are partners sharing profits and losses 
in the ratio of 5 : 4 : 1. The profit for the  year 
ending 31, March, 2010 was Rs. 1,00,000. B died on  
30th June 2010. Calculate Cs share of profit till the 
date of death and pass necessary journal entry. 

   A, B ©ØÖ® C TmhõÎPÎß C»õ£ ©ØÖ® |mh £[Rk 

5 : 4 : 1.  C»õ£ PnUS 31 ©õºa 2010 ß ¹. 1,00,000. B 

Gß£Áº 30 áúß 2010 AßÖ ©μn® Aøh¢xÂmhõº. 

PnURk ö\´¯U Cß C»õ£ £[Rk ©ØÖ® SÔ¨÷£k 

ÁøμP. 

Or 

 (b) The amount of sundry assets transferred to 
Realisation A/c was Rs. 80,000. 60% of them have 
been sold at a profit of Rs. 2,000. 20% of the 
remaining were sold at a discount of 30% and 
remaining were taken over by Z (a partner) at book 
value. Journalise. 

   ö\õzxPøÍ £Qº¢uÎzuÀ PnUS ¹. 80,000. 60% 

C»õ£® ÂØ£øÚ ö\´¯¨£mhx ¹. 2,000. 20% 

ÂØ£øÚ PÈÄ ©ØÖ® 30%, Z GÝ® TmhõÎ 

GkzxUöPõshõº. SÔ¨÷£k GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. A, B and C are partners. They admit D and guarantee 
that his share of profit will not be less them Rs. 20,000. 
Profits to be shared 4 : 3 : 3 : 2 respectively. Total profits 
were Rs. 96,000. It was agreed that excess payable to D 
over his share will he borne by A, B and C in the ratio of 
3 : 2 : 1. Calculate share of profit for each partner. 

 A, B ©ØÖ® C TmhõÎPÒ. D GÝ® |£øμ SøÓ¢u£m\® 

»õ£® ¹. 20,000/– Ai¨£øh°À Cøn¢uÚº. C»õ£ £QºÄ 

4 : 3 : 3 : 2 ö©õzu C»õ£® ¹. 96,000. D Gß£Á›ß 

J¨¦xu¾hß A, B ©ØÖ® C US 3 : 2 : 1 Tku»õP 

ÁÇ[P¨£mhx. AøÚzx TmhõÎUS® C»õ£ PnUøP 

u¯õº ö\´P. 
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17. On 31.3.14, the Balance sheet of W and R shared profits 
in 3 : 2 ratio was as follows : 

Liabilities   Amount  Assets  Amount

Creditors  40,000  Cash 10,000

Profit and loss A/c  30,000  Sundry debtors  40,000

Capital Accounts :    Less : Provision 14,000 38,600

W 80,000   Stock 50,000

R 60,000 1,40,000  Plant and Machinery 70,000

    Patents 41,400

  2,10,000   2,10,000

 On this date, B was admitted as a partner on the 

following conditions : 

 (a) B will get 4/15th share of profits. 

 (b)  B had to bring Rs. 60,000 as his capital to which 

amount other partners capitals shall have to be 

adjusted. 

 (c) He would pay cash for his share fo goodwill which 

would be based on 2 years purchase of average 

profits of past 4 years.  

 (d) The assets would be revalued as under : 

   Sundry debtors book value less 5% provision for bad 

debts. Stock at Rs. 40,000, plant and Machinery at 

Rs. 80,000. 

 (e) The profits of the firm for the years 2011, 2012, 

2013 were Rs. 40,000, 28,000 and Rs. 34,000 

respectively. 

   Prepare Revaluation A/c, Partner' s Capital A/c and 

the Balance Sheet of the new firm.  
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 31.3.2014 AßÖ W, R, 3 : 2 ÂQuzvÀ AÁºPÎß 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ   öuõøP  ö\õzxUPÒ  öuõøP 

PhÜ¢÷uõº  40,000  öμõUP® 10,000

C»õ£ |mh P/S  30,000  £Ø£» PhÚõÎPÒ 40,000

•uÀ P/S :    (–) JxUS 14,000 38,600

W 80,000   \μUQ¸¨¦ 50,000

R 60,000 1,40,000  ö£õÔ ©ØÖ® C¯¢vμ® 70,000

    Põ¨¦›Ú® 41,400

  2,10,000   2,10,000

 A÷u |õÎÀ B Gß£Áº ¤ßÁ¸® Pmk¨£õmiÀ TmhõÎ¯õP 

÷\ºUP¨£kQÓõº. 

 (A) B – 4/15 GßÓ ÂQuzvÀ »õ£¨£[S ö£ÖQÓõº. 

 (B)  B – ß •u»õP ¹. 60,000 öPõsk Á¸Áxhß AuØS 

HØ£. ©ØÓ TmhõÎPÎß •u¼À ©õØÓ® ö\´¯¨£k®. 

 (C) B AÁºPÒ |Øö£¯º £[PõP Cμsk Bsk 

öPõÒ•u»õP |õßS BskPÎß \μõ\› C»õ£® 

ÁÇ[P ÷Ásk®. 

 (D) ¤ßÁ¸©õÖ ö\õzxUPÒ ©Ö©v¨¥k ö\´¯¨£kQÓx : 

   £Ø£» PhÚõÎPÎÀ 5% JxUSP, \μUQ¸¨¦  

¹. 40,000•®, ö£õÔ C¯¢vμ® ¹. 80,000 BP 

PnUQh¨£mhx.. 

 (E) C»õ£® •øÓ÷¯  2011, 2012, 2013 ¹. 40,000,  

¹. 28,000 ©ØÖ® ¹. 34,000. 

  ©Ö©v¨¤k P/S TmhõÎPÎß •uÀ P/S ©ØÖ® ¦v¯ 

C¸¨¦ {ø»USÔ¨¤øÚ u¯õº ö\´P. 
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18. Pankaj, Naresh and Saurabh are partners sharing profits 
in the ratio of 3 : 2 : 1. Naresh retired from the firm due 
to his illness. On that date the Balance sheet of the firm 
was as follows : 

Balance sheet on March 31st 2013 
Liabilities   Amount  Assets  Amount 

General Reserve  12,000  Bank 7,600

Sundry creditors   15,000  Debtors  6,000

Bills payable   12,000  Less : Provision for 
D. debts 400 5,600

Outstanding salary   2,200  Stock 9,000

Provisions for legal 
damages  

 6,000  Furniture  41,000

Capitals :    Premises  80,000

Pankaj        46,000    

Naresh 30,000    

Saurabh 20,000 96,000   

  1,43,200   1,43,200

 Additional Information : 

 (a) Premises have appreciated by 20%, Stock 
depreciated by 10% and provision for doubtful debts 
was to be made 5% on debtors. Further, provision 
for legal damages is to be made for Rs. 1,200 and 
furniture to be brought up to Rs. 45,000. 

 (b) Goodwill of the firm be valued at Rs. 42,000. 

 (c) Rs. 26,000 from Naresh's Capital Account be 
transferred to his loan account and balance be paid 
through bank; if required, necessary loan may be 
obtained from bank. 

 (d) New profit sharing ratio of Pankaj and Saurabh is 
decided to be 5 : 1. 

   Give the necessary ledger accounts and Balance 
Sheet of the firm after Naresh's retirement. 
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 £[Pä, |÷μè, _μõ¨ TmhõÎPÒ •øÓ÷¯ 3 : 2 : 1 GßÓ 

ÂQuzvÀ C»õ£zøu ¤›zx Á¢uÚº. EhÀ{ø» Põμn©õP 

|÷μè Tmhõsø©°À C¸¢xÂ»QÓõº. 

C¸¨¦ {ø»U SÔ¨¦ 31.3.2013. 

ö£õÖ¨¦PÒ   öuõøP  ö\õzxUPÒ  öuõøP

ö£õxUPõ¨¦  12,000  Á[Q 7,600

£Ø£» PhÜ¢÷uõº  15,000  PhÚõÎPÒ6,000

ö\¾zxÁuØS›¯ 

©õØÖ^mk  

 12,000  (–) JxUS
400 5,600

öPõk£hõ \®£Í®  2,200  \μUQ¸¨¦ 9,000

|èhzvØPõÚ JxUS   6,000  AøÓP»ß 41,000

•uÀ :    A¾Á»P® 80,000

£[Pä        46,000    

|÷μè 30,000    

_μõ¨ 20,000 96,000   

  1,43,200   1,43,200

 TkuÀ ÂÁμ[PÒ : 

 (A) A¾Á»[PÒ 20% Tku»õPÄ®, \μUQ¸¨¦ 10% 

SøÓÁõPÄ®,  PhÚõÎ «uõÚ 5% – BP 

PnUQh¨£kQÓx. ÷©¾® |èh® «uõÚ JxURk 1200 

Tku»õP JxUSP ¹. 4,500 Áõ[Q¯ AøÓP»ß. 

 (B) uØö£¯º ¹. 42,000 BP PnUQh¨£kQÓx 

 (C) ¹. 26,000 |÷μè Phß PnUQØS® ©õØÓ® 

ö\´¯¨£mk «u•ÒÍ öuõøP Á[Q°ß C¸¢x 

ö\¾zu¨£kQÓx. 

 (D) ¦v¯ £[S ÂQu® £[Pä ©ØÖ® _μõ¨¤ÓS 5 : 1 GßÓ 

ÂQuzvÀ PnUQh¨£kQÓx. 

   ÷uøÁ¯õÚ ÷£÷μmk¨£vÄPøÍ²®, ¦v¯ 

C¸¨¦{ø»U SÔ¨¦ ©ØÖ® |÷μè Phß P/S u¯õº 

ö\´P. 
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19. X, Y and Z are partners sharing profits and losses in the 
ratio of 2:2:1 respectively. Their Balance Sheet as on    
march 2007 was as follows : 

Balance Sheet as on 31.03.2007. 
Liabilities Rs. Assets Rs. 

Sundry Creditors 1,00,000 Cash at bank 20,000

Capital Accounts  Stock 30,000

 X 60,000 Sundry debtors 80,000

 Y 1,00,000 Investments 70,000

 Z 40,000 Furniture  35,000

General Reserve 50,000 Buildings 1,15,000

 3,50,000  3,50,000

 Z died on 30th September 2007 and the following was 
provided : 

 (a) Z – will be entitled to his share of profit upto the 
date of death based on last year's profit. 

 (b) Z's share of Goodwill will be calculated on the basis 
of 3 years purchase of average profits of last four 
years The profits of the last four years was as 
follows : 

  Year I – 80,000, Year II – Rs. 50,000,      
  Year III – Rs. 40,000 and Year IV  – Rs. 30,000 

 (c) Interest on Capital was provided at 12% pa. 

 (d) Drawings of the deceased partner upto the date of 
death was Rs. 10,000. 

 (e) Rs. 15,400 should be paid immediately to the 
executor of the deceased partner and the balance in 
four equal yearly installments with interest at 12% 
on remaining balance. 

  Prepare Z's capital account and Z's executors 
account till the account is finally closed. 
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 X, Y ©ØÖ® Z TmhõÎPÒC»õ£ |mhzøu  2 : 2 : 1 GßÓ 

ÂQuzvÀ ¤›¢xÁ¢uÚº. AÁºPÎß 31.3.2007 ® |õÎß 

C¸¨¦ {ø»USÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 1,00,000 Á[Q 20,000

•uÀ :  \μUQ¸¨¦ 30,000

 X 60,000 £Ø£» PhÚõÎPÒ 80,000

 Y 1,00,000 •u½kPÒ 70,000

 Z 40,000 AøÓP»ß  35,000

ö£õxU Põ¨¦ 50,000 Pmih® 1,15,000

 3,50,000  3,50,000

  Z – 30 ö\¨h®£º 2007 AßÖ C¸¢uõº Auß 

ÂøÍÁõP 

 (A) Z  AÁºPÒ CÓ¢u ÷uvÁøμÄ©õÚ C»õ£zvÀ £[S 

ö£ÖQÓõº. 

 (B) Z –AÁºPÎß |Øö£¯º £[QØS 3 Bsk öPõÒ•uÀ 

Ai¨£øh°À |õßS Bsk \õμõ› »õ£® 

PnUQh¨£kQÓx : 

  Bsk I – ¹. 80,000, Bsk II – ¹. 50,000,      

  Bsk III – ¹.40,000 ©ØÖ®  

  Bsk IV  – ¹. 30,000 

 (C) •uÀ «uõÚ Ámi 12% GÚ PnUQh¨£kQÓx 

 (D) CÓ¢u TmhõÎ°ß Gk¨¦ ¹. 10,000. 

 (E) Z –ß ¤μv› PnUS ¹. 15,400 EhÚi¯õPÄ®, «u® 

|õßS BsiØPõÚ uÁøn°À 12% Ámi²hß 

ÁÇ[P¨£kQÓx Z'ß •uÀ P/S ©ØÖ® AÁ›ß CÖv 

öuõøP ö\¾zx® AÔUøP u¯õº ö\´P. 
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20. Pass the journal entry for the following transactions of 
Aakash and Prakash after the various assets other than 
cash and outside liabilities have been transferred to 
Realisation A/c : 

 (a) Bank loan Rs. 2,40,000 was paid. 

 (b)  Stock worth Rs. 3,20,000 was taken over by Partner 
Prakash.  

 (c)  Partner Aakash paid a creditor Rs. 80,000. 

 (d)  An Asset not appearing in the books of accounts 
realized Rs. 2,40,000. 

 (e)  Expenses of Realisation Rs. 40,000 were paid by 
partner Prakash. 

 (f) Profit of realization Rs. 7,20,000 were distributed 
between partners in 5 : 4. 

 SÔ¨÷£k PnUøP u¯õº ö\´P APõè ©ØÖ® ¤μPõè £QºÄ 

Ai¨£øh°À £À÷ÁÖ ö\õzxUPÒ. öμõUP® ©ØÖ® Cuμ 

ö£õÖ¨¦PÒ PnUS. 

 (A) Á[Q Phß ö\¾zv¯x ¹. 2,40,000  

 (B)  C¸¨¦ ©v¨¦ ¹. 3,20,000 ¤μPõè GÝ® TmhõÎ 

GkzxUöPõshõº. 

 (C)  PhÚõÎUS BPõè ö\¾zv¯ £n® ¹. 80,000. 

 (D)  ö\õzx PnUS ¦zuPzvÀ Ch®ö£ÓÂÀø»  

¹. 2,40,000. 

 (E)  Cuμ ö\»ÂÚ® ¤μPõè ö\¾zv¯x ¹. 40,000  

 (F) C»õ£ ©v¨¥k ¹. 7,20,000 £Qº¢uÎzuÀ TmhõÎUS 

5 : 4. 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is marketing planning? 

 \¢øu°h¼ß vmhªhÀ  GßÓõÀ GßÚ? 

2. What do you know about barter system? 

 £sh©õØÖ •øÓ £ØÔ } AÔÁÚ ¯õøÁ? 

3. What is consumerism? 

 ~Pº÷Áõ›¯À  GßÓõÀ GßÚ? 

4. What do you mean by MIS? 

 \¢øu°¯À uPÁÀ öuõhº¦  GßÓõÀ GßÚ? 

5. What is product differentiation? 

 ö£õ¸Ò ÷ÁÖ£kzxuÀ  GßÓõÀ GßÚ? 

6. Differentiate packing and packaging. 

 Pmk©® ©ØÖ® Pmk©õÚ® ÷ÁÖ£kzxP. 

Sub. Code 
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7. Write a few lines on segmenting the market. 

 \¢øu £SzuÀ £ØÔ J›¸ Á›PÒ GÊxP. 

8. What is select media advertising? 

 FhPz ÷uºÄ  GßÓõÀ GßÚ? 

9. What is services marketing? 

 ÷\øÁ \¢øu°hÀ  GßÓõÀ GßÚ? 

10. Give a short note on perisible market. 

 AÊPUTi¯ ö£õ¸mPÎß \¢øu £ØÔ J¸ ]» Á›PÒ 

GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the characteristics of product. 

  ö£õ¸mPÎß C¯À¦PÒ Á›ø\¨£kzxP. 

Or 

 (b) Discuss the advantages of marketing. 

  \¢øu°h¼ß |ßø©PøÍ ÂÁ›UPÄ®. 

12. (a) Discuss the role of middlemen in marketing 
function. 

  \¢øu°h¼À CøhzuμP›ß £[QøÚ ÂÁ›UPÄ®. 

Or 

 (b) When the skimming pricing is a good option? 
Explain. 

  ÷©÷»õmh Âø»÷¯ ]Ó¢ux  ÂÁ›UPÄ®. 
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13. (a) Detail any five types of pricing methods. 

  H÷uÝ® I¢x Âø» {ºn°US® •øÓPøÍ GÊxP. 

Or 

 (b) Differentiate marketing from selling function. 

  ÂØ£øÚ°h¼¸¢x \¢øu°h¼øÚ ÷ÁÖ£kzv 

PõmkP. 

14. (a) Discuss role of sales person in marketing. 

  \¢øu°h¼À ÂØ£øÚ ¤μv{v°ß  £[S ¯õøÁ? 

Or 

 (b) What do you mean by insurance marketing? Give its 
significance. 

  Põ¨¥mk \¢øu°hÀ  GßÓõÀ GßÚ? Auß 

•UQ¯zxÁzøu GÊxP. 

15. (a) What do you know about telemarketing? Explain. 

  öuõø»÷£] Áõ°»õÚ \¢øu°hÀ  GßÓõÀ GßÚ? 

ÂÁ›. 

Or 

 (b) List any five factors involved in pricing decision. 

  Âø» {ºn°zu¼À EÒÍ H÷uÝ® I¢x PõμoPøÍ 

Á›ø\¨£kzxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Detail the various marketing functions. 

 \¢øu°h¼ß £À÷ÁÖ £oPøÍ ÂÁ›UPÄ®. 

17. Criticize the role of consumer in product selection in  
e-marketing. 

 Bß–ø»ß ÁºzuPzvß ö£õ¸m ÷uØÂß ÷£õx ~Pº÷Áõ›ß 

£[QøÚ ÂÁ›UPÄ®. 
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18. Describe the factors to be considered in market 

segmentation. 

 \¢øu £Szuõ´u¼À EÒÍ £À÷ÁÖ PõμoPøÍ  

ÂÁ›UPÄ®.  

19. Critically analyze various pricing policies. 

 £À÷ÁÖ ÁøP¯õÚ Âø»PøÍ öPõÒøPPøÍ ÂÁõvUPÄ®. 

20. Discuss different types of advertising channels with 
suitable examples. 

 ÂÍ®£μzvØPõÚ £À÷ÁÖ ÁøP¯õÚ ÁÈPøÍ E›¯ 

Euõμnzxhß GÊxP. 

—————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is a shareholder director? 

 £[Suõμ C¯US|º Gß£Áº ¯õº? 

2. State the minimum and maximum number of members 
for companies. 

 {ÖÁÚzvß SøÓ¢u £m\ ©ØÖ® AvP£m\ EÖ¨¤ÚºPÎß  

GsoUøPø¯ SÔ¨¤kP.  

3. Who is an Additional Director? 

 TkuÀ C¯US|º Gß£Áº ¯õº? 

4. Give the meaning of the term Remuneration. 

 öÁS©v GßÓ £uzvß ö£õ¸Ò u¸P. 

5. List down the different types of company meetings. 

 £À÷ÁÖ ÁøP¯õÚ {ÖÁÚ Tmh[PøÍ Á›ø\¨£kzxP. 

Sub. Code 
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6. What is AGM and EGM? 

 AGM ©ØÖ® EGM GßÓõÀ GßÚ? 

7. Who is an Auditor? 

 uoUøP¯õÍº Gß£Áº ¯õº? 

8. What is the difference between inspection and 
investigation? 

 B´ÂØS® Â\õμønUS® EÒÍ ÷ÁÖ£õk ¯õx? 

9. What do you understand by the term ‘winding up’ in 
relation to a company? 

 {ÖÁÚ Pø»¨¦ GßÓ £uzvøÚ } ¦›¢x öPõshx ¯õx? 

10. Who is a official liquidator? 

 AvPõμ¨ §ºÁ Pø»¨£¾Á»Pº Gß£Áº ¯õº? 

 Part B  (5  5 = 25) 
Answer all questions, choosing either (a) or (b). 

11. (a) What are the disqualifications of a director? 

  C¯US|›ß uSv°Ç¨¦PÒ ¯õøÁ? 

Or 

 (b) What are the qualifications of a Director? 

  C¯US|›ß uSvPÒ ¯õøÁ? 

12. (a) Distinguish between manager and managing 
director. 

  ÷©»õÍº ©ØÖ® {ºÁõP C¯US|º–÷ÁÖ£kzxP. 

Or 

 (b) What are the procedures for appointment or an 
independent director in a company? 

  J¸ {ÖÁÚzvÀ _¯ C¯US|øμ {¯©Ú® ö\´²® 

ö\¯À•øÓPÒ ¯õøÁ? 
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13. (a) State the procedure for issue of notice of company 

meetings. 

  {ÖÁÚ Tmh[PÒ £ØÔ AÔUøP öÁÎ°kÁuØPõÚ 

ö\¯À•øÓPøÍ SÔ¨¤k. 

Or 

 (b) What are the contents of statutory report? 

  \mh§ºÁ AÔUøP°À EÒÍ åμzxPÒ ¯õøÁ? 

14. (a) What are the qualifications required to become 
eligible for an Auditor? 

  uoUøP¯õÍº BÁºuØPõÚ uS¢u uSvPÒ ¯õøÁ? 

Or 

 (b) How is the vacancy of the auditor is filled? 

  uoUøP¯õÍ›ß Põ¼°h® GÆÁõÖ {μ¨£kQÓx? 

15. (a) What are the consequences of voluntary winding 
up? 

  ußÚõºÁ Pø»¨¤ÚõÀ HØ£k® ÂøÍÄPÒ ¯õøÁ? 

Or 

 (b) Distinguish between members and creditors 
voluntary winding up. 

  EÖ¨¤Úº ußÚõºÁ Pø»¨¦ ©ØÖ® PhÜ¢÷uõ›ß 

ußÚõºÁ Pø»¨¦ ÷ÁÖ£kzxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the duties and liabilities of Directors. 

 C¯US|›ß Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ ÂÁ›. 
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17. Explain the duties of secretary relating to appointment of 

additional director and alternate director. 

 TkuÀ C¯US|º ©ØÖ® ©õØÖ C¯US|øμ {¯©Ú® ö\´²® 

ö£õÊx {ÖÁÚa ö\¯»›ß Phø©PøÍ ÂÁ›UPÄ®. 

18. Explain the duties of company secretary relating to 
statutory meeting. 

 \mh¨§º©õÚ Tmh® SÔzx {Ö©a ö\¯»›ß Phø©PÒ 

¯õøÁ? 

19. Describe the powers and duties of an auditor. 

 uoUøP¯õÍ›ß AvPõμ[PÒ ©ØÖ® Phø©PÒ SÔzx 

ÂÁ›. 

20. What are the duties of secretary in respect of creditors 
voluntary winding up? 

 PhÜ¢÷uõ›ß ußÚõºÁ Pø»¨¤À {ÖÁÚa ö\¯»›ß 

Phø©PÒ ¯õøÁ? 

  

—————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. Bring out the meaning of liquidity. 

 }º©® £ØÔ ]Ö SÔ¨¦ ÁøμP. 

2. What do you know about profit maximization? 

 C»õ£ AvP›zuÀ £ØÔ } AÔÁÚ ¯õøÁ? 

3. What is discounting factor? 

 uÒÐ£iU Põμo GßÓõÀ GßÚ? 

4. State the meaning of financial decision. 

 {v°¯À •iÄ Aºzu® TÖP. 

5. Give the meaning of indifferent point. 

 ©õÓõ¨ ¦ÒÎ Aºzu® TÖP. 

6. What is homemade leverage? 

 ÃmiÝÒ ö\ÀÁõUS GßÓõÀ GßÚ? 

Sub. Code 
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7. “Any change in debt equity mix will make a change in 
value of the firm under NI Approach” do you agree? If yes 
why? 

 {Ö©zvß ©v¨¤¾® ©õØÓzøu HØ£kzx® •uÀ ©ØÖ® 

Phß ÂQuzvÀ HØ£k® ©õØÓ® GÚ NI TØÔøÚ HØQÓõ¯õ? 

B® GÛÀ Hß? 

8. Is MM approach an extension of NOI? 
 MM TØÖ NOI TØÔß }m]¯õ? 

9. What is gross working capital? 
 ö©õzu ÷Áø» ‰»uÚ® GßÓõÀ GßÚ? 

10. What do you know about inventory management? 
 \μUQ¸¨¦ ÷©»õsø© £ØÔ } AÔÁÚ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the functions of financial manager? 
Explain. 

   {v°¯À ÷©»õÍ›ß £oPÒ ¯õøÁ? ÂÁ›. 

Or 

 (b) “Wealth maximization is strategic approach of 
financial management” – Explain. 

   “ö\õzx ÷©®£kzxu÷» öuõø»÷|õUS {v°¯À 

÷©»õsø©” – ÂÁ›. 

12. (a) Malaiya Ltd. Issued 60,000 15% irredeemable 
preference shares of Rs. 100 each. The issue 
expenses were Rs. 60,000. determine the cost of 
preference capital if shares are issued  

  (i) at par  
  (ii) at a premium of 10% and  
  (iii) at a discount of 5%. 
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   ©÷»¯õ {ÖÁÚ® 60,000 15% v¸®£¨ ö£Óõ 

•ßÝ›ø©¨ £[SPøÍ ¹. 100 ÂQuzvÀ ÁÇ[Q¯x. 

Auß ö\»ÄPÒ ¹. 60,000 Auß •ßÝ›ø©¨ £[S 

Âø»°øÚ  

  (i) •P©v¨¤À 

  (ii) 10% •øÚ©zvÀ 

  (iii) 5% uÒÐ£i°À PnUQkP. 

Or 

 (b) Allen Ltd. Pays a dividend of Rs.4 per share. Its 
shares are quoted at Rs. 40 presently and investors 
expect a growth rate of 10% per annum. Calculate : 

  (i) cost of capital 
  (ii) expected market price share if anticipated 

growth rate is 11%. 

   B»ß {Ö©® ¹. 4 J¸ £[QØS £[S Buõ¯® 

ÁÇ[Q¯x. Auß £[S ©v¨£õÚx ¹. 40 GÚÄ® 

÷©¾® Auß ÁÍºa] BskUS 10% BS®. Auß : 

  (i) •uÀ Âø» 
  (ii) 11% ÁÍºa]°À Auß Gvº£õºUP¨£mh \¢øu 

Âø»ø¯ PnUQkP. 

13. (a) Sind Ltd. A widely held company is considering a 
major expansion of its production facilitates and 
following financing alternatives are available : 

 X Y Z

Equity share capital (Rs. 10 each)  60 30 10

12% debentures – 20 25

15% loan from a financial institution – 10 25

  Expected rate of return before tax is 20%. The rate 
of dividend of the company is not less than 18%. The 
company at present has low debt. Corporate 
taxation is 35%. Which of the alternatives you 
would choose? 
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   ]¢x ¼ªöhm ({Ö©®) J¸ ªP¨ö£›¯ 

Â›ÁõUPzvØPõÚ ©õØÖzvmh[PøÍ ÁÇ[Q²ÒÍx. 

 X Y Z

\©£[S (¹. £zx Ãu®) 60 30 10

12% Phß£zvμ[PÒ – 20 25

15% {vUPhß – 10 25

  Gvº£õºUP¨£k® C»õ£® Á›US •ß¦ 20% {Ö©zvß 

£[S Buõ¯® 18%&US RÌ SøÓ¯UThõx |h¨¤À 

{Ö©® SøÓ¢u PhßPøÍU öPõskÒÍx. 

  {Ö©zvß Á› 35% CÁØÔÀ G¢uz vmhzvøÚ ÷uºÄ 

ö\´Áõ´? PnUQkP. 

Or 

 (b) Dubin Ltd. has equity share capital of Rs. 12,00,000 
divided into shares of Rs. 100 each? It wishes to 
raise further Rs. 6,00,000 for expansion-cum-
modernization scheme. The company plans the 
following financing alternatives : 

  Plan-A by issuing equity shares only 

  Plan-B Rs. 2,00,000 through equity shares and  
Rs. 4,00,000 through debentures @ 10 p.a. 

  Plan-C Rs. 2,00,000 by issuing equity shares and 
Rs. 4,00,000 by issuing 9% preference shares 

  Plan-D by raising term loan only at 10% p.a. 

  You are required to suggest the best alternative 
giving your comment assuming that the estimated 
EBIT after expansion is Rs. 2,25,000 and corporate 
tax rate is 40%. 
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   l¤ß {Ö©® ¹. 12,00,000 •u¼øÚ ¹. 100 J¸ 

£[QØS GÚ¨ ¤›zx øÁzxÒÍx. ÷©¾® ¹. 6,00,000 

Á`À ö\´¯ vmhªmk RÌUPõq® vmh[PøÍ 

øÁzxÒÍx. 

   vmh® – A \©£[SPÒ ©mk® ÁÇ[SuÀ 

   vmh® – B ¹. 2,00,000 \©£[PõPÄ® ¹. 4,00,000 

PhÜmk¨ £zvμ©õPÄ® 10 \uÃuzvÀ ö£ÖuÀ 

   vmh® – C ¹. 2,00,000 \©£[PõPÄ® ¹. 4,00,000 

9 \uÃu •ßÝ›ø© £[PõPÄ® ö£Ó¨£kQÓx 

   vmh® – D PhÚõP ¹. 10% Ámi°À ö£ÖuÀ 

   }[PÒ ÷©ØTÔ¯ÁØÔÀ G¢u vmh® ]Ó¢ux GÚ Auß 

C»õ£®, Ámi ©ØÖ® Á›US •ß¦ Â›ÁõUPzvØS 

¤ß¦ ¹. 2,25,000 ÷©¾® A¢{ÖÁÚzvß Á› 40% 

GÚU PnUQhÄ®. 

14. (a) Martin Ltd. has the following capital structure : 

       Rs. 
  25000 Equity shares of Rs. 10 each 2,50,000 
  2000 9% Preference shares of Rs. 100 each 2,00,000 
  3000 10% Debentures of Rs. 100 each 3,00,000 
  The company’s EBIT is Rs. 1,25,000. Calculate the 

financial leverage assuming that the company is in 
40% tax bracket. 

   ©õºmiß {ÖÁÚ® RÌUPõq® •uÀ Aø©¨ø£U 

öPõskÒÍx. 

       ¹. 

  25000 \©£[SPÒ ¹. 10 Ãu® 2,50,000 

  2000 9% •ßÝ›ø©¨ £[SPÒ ¹. 100 Ãu® 2,00,000 

  3000 10% Phß£zvμ[PÒ ¹. 100 Ãu® 3,00,000 

  A¢u {ÖÁÚzvß Ámi ©ØÖ® Á›US •¢øu¯ 

C»õ£® ¹. 1.25,000 Auß Á› 40%&BP 

©v¨¤køP°À. 

Or 
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 (b) A firm has sales of Rs. 15,00,000, variable cost of 
Rs. 9,00,000, fixed cost of Rs. 3,00,000 and debt of 
Rs. 8,00,000 at 8%. Calculate its operating, financial 
and combined leverages. 

   J¸ {Ö©® Auß ÂØ£øÚ ¹. 15,00,000, ©õÖ£k® 

ö\»Ä ¹. 9,00,000, {ø»a ö\»Ä ¹. 3,00,000 ©ØÖ® 

Auß Phß ¹. 8,00,000 @ 8% Auß ö\¯À£õk, 

{v°¯À ©ØÖ® Cøn¢u ö|®¦uÀ PnUQkP. 

15. (a) From the following information relating to  
Perara Ltd., Calculate operating cycle and average 
working capital Annual cash expenses are  
Rs. 1,50,00,000 

  Stock holding : 

  Raw material : 2 Months 

  W.I.P. : 15 days 

  Finished goods : 1 Month 

  Average debt collection period : 2 Months 

  Average payment period : 45 Days. 

   RÌUPõq® ÂÁμ[PøÍU öPõsk ö£μõμõ 

{ÖÁÚzvØS ö\¯À£õmk _ÇØ] ©ØÖ® \μõ\› 

÷Áø»•uÀ PnUQkP. 

  Bsiß öμõUP ö\»ÄPÒ ¹. 1,50,00,000 

  \μUQ¸¨¦  : 

  ‰» \μUS – 2 ©õu[PÒ 

  •Êø©¯ØÓ ÂØ£øÚ \μUS – 15 |õmPÒ 

  •Êø©ö£ØÓ \μUQ¸¨¦ – 1 ©õu® 

  \μõ\› Phß Á`À Põ»® – 2 ©õu®, \μõ\› £n® 

ö\¾zx® Põ»® – 45 |õmPÒ. 

Or 
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 (b) Brown Ltd. Has total sales revenue of Rs. 120 lakhs 
a year, of which 75% are credit sales. The firm has 
an investment opportunity in the money market to 
earn a return of 18% p.a. if the firm could reduce its 
float by 3 days, what would be the annual savings 
for it? 

   ¤μÄß {ÖÁÚ® Auß ö©õzu ÂØ£øÚ Á¸Áõ´  

¹. 120 »m\® BskUS, AvÀ 75% Phß 

ÂØ£øÚ¯õS®. Auß ‰»uÚ Áõ´¨¦ 18% BskUS, 

Auß ‰ßÖ |õmPÒ SøÓUS® ÷£õx, AuÛß Bsk 

÷\ª¨¦ GßÚÁõS®? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. “Liquidity and profitability are competing goals for the 
finance manager” – Comment. 

}º©® ©ØÖ® C»õ£® Cμsk® JßÖUöPõßÖ Cøn¯õÚ 

{v°¯À ÷©»õÍ¸US C»US – P¸zx TÖP. 

17. In considering the most desirable capital structure for  
a company, the following estimates of the cost of  
debt-equity mix : 
Debt as percentage of
total capital employed 

Cost of debt (%) Cost of equity (%)

0 5.0 12.0 

10 5.0 12.0 

20 5.0 12.5 

30 5.5 13.0 

40 6.0 14.0 

50 6.5 16.0 

60 7.0 20.0 

 You are required to determine the optimal capital 
structure for the company by calculating weighted 
average cost of capital. 
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 ªPa\›¯õÚ •uÀ Aø©¨¤øÚ ¤ßÁ¸® Â£μ[PøÍU 

öPõsk \©£[S •uÀ ©ØÖ® Phß P»øÁ ©v¨¤kP. 

ö©õzu •uÀ 

÷uøÁ¨£kÁx \uÃuzvÀ 

Phß Âø» 

\uÃuzvÀ 

Phß \©£[S 

\uÃuzvÀ 

0 5.0 12.0 

10 5.0 12.0 

20 5.0 12.5 

30 5.5 13.0 

40 6.0 14.0 

50 6.5 16.0 

60 7.0 20.0 

 ªPa\›¯õÚ •uÀ Aø©¨¤øÚ Põn \μõ\› •uÀ ö\»ÂÀ 

PnUQkP. 

18. A Company needs Rs. 31,25,000 for construction of new 
plant. The following three plans are feasible : 

 Plan I : the company may issue 3,12,500, equity shares at 
Rs. 10 per share 

 Plan II : the company may issue 1,56,250 equity shares at 
Rs. 10. Per share and 15,625 8% debentures of Rs. 100 
denomination 

 Plan III : the company may issue 1,56,250 equity shares 
at Rs. 10 per share and 15,625 8% preference shares at  
Rs. 100 per share. 

 Assuming corporate income tax of 40%, determine the 
EBIT-EPS indifference points between financing plan I 
and plan II and plan I and plan III. 
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 J¸ {ÖÁÚzvØS ¹. 31,25,000 ¦v¯ ö£õÔ PmkÁuØS 

÷uøÁ¨£kQÓx. AuØS ‰ßÖ ©õØÖPÒ vmh[PÒ 

¤ßÁ¸©õÖ : 

 vmh® I – 3,12,500 \©£[SPÒ ¹. 10 Ãu® ÁÇ[SÁx 

 vmh® II – 1,56,250 \©£[SPÒ ¹. 10 Ãuzv¾®, 15,625  

8% Phß £zvμ[PÒ ¹. 100 ©v¨¤À ö£ÖÁx 

 vmh® III – 1,56,250 \©£[SPÒ ¹. 10 Âu® ©ØÖ®, 15,625 

8% Phß£zvμ[PÒ ¹. 100 ©v¨¤À ÁÇ[SÁx 

 {ÖÁÚ Á› 40% GÚU PnUQmk vmh® I, II ©ØÖ® III-ØS 

Bn ©õÓõ ¦ÒÎ°øÚ PnUQkP.  

19. Calculate operating, financial and combined leverages 

under situations A, B and C from the following 

particulars : 

 Installed capacity – 1200 units 

 Actual production and sales – 800 units 

 Selling price per unit – Rs. 15 

 Variable cost per unit – Rs. 10 

 Fixed cost situation A – Rs. 1,000 

 Fixed cost situation B – Rs. 2,000 

 Fixed cost situation C – Rs. 3,000  

 Financial plan 

Capital structure A B C 

Equity (Rs.) 5,000 7,500 2,500

Debt (cost 12%) 5000 2500 7500
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 A, B ©ØÖ® C BQ¯ `Ç¾US ö\¯À, {v ©ØÖ® Cμsk® 

÷\º¢u ----E¢xuø»U PnUQkP. 
 öPõÒP»Ûß öPõÒÍÍÄ – 1,200 A»SPÒ 
 EØ£zv ©ØÖ® ÂØ£øÚ – 800 A»SPÒ 
 ÂØ£øÚ Âø» Jμ A»QØS – ¹. 15 
 ©õÖ£k® Âø» A»S JßÔØS – ¹. 10 
 ©õÓõ Âø» –  A – ¹. 1,000 
 ©õÓõ Âø» – B – ¹. 2,000 
 ©õÓõ Âø» – C – ¹. 3,000 

 {v°¯À vmh® 

•uÀ Aø©¨¦ A B C 

\©£[S •uÀ (¹.) 5,000 7,500 2,500

Phß (12%) 5000 2500 7500

20. X Ltd. is carrying on business of purchase and sales of an 
item. Selling price is Rs. 80 and purchase price is Rs. 60. 
during Dec. 2007, Jan 2008, Feb. 2008 and Mar. 2008, its 
sales were 300 units, 400 units, 500 units and 600 units 
respectively. 10% of sales are on cash basis and the 
balance on one month’s credit basis. its office expenses 
are Rs. 3,000 per month. Cash balance on 1.1.2008 
Rs. 10,000, at the end of each month, the stock was nil. 

 Prepare a cash budget for the months of Jan, Feb and 
March 2008. 

 X {ÖÁÚ® J¸ö£õ¸ÎøÚ Áõ[Q ÂØS® öuõÈ¼À 

EÒÍx. Auß ÂØ£øÚ ©ØÖ® Áõ[S® Âø» ¹. 80 ©ØÖ® 

¹. 60 •øÓ÷¯. 2007 i\®£º, 2008 áÚÁ›, ¤¨μÁ› 2008, 

©õºa 2008, Auß ÂØ£øÚ 300, 400, 500 ©ØÖ® 600 

A»SPÒ. 10% ÂØ£øÚ öμõUP Ai¨£øh°À, «u®  

1 ©õu PhÛÀ, Auß A¾Á»Pa ö\»ÄPÒ ¹. 3,000 

©õuzvØS, 1.1.12008 AßÖ Auß øP°¸¨¦ öμõUP®  

¹. 10,000, \μUQ¸¨¦ – §äâ¯®. 

 áÚÁ›, ¤¨μÁ› ©ØÖ® ©õºaUPõÚ öμõUP vmh¨£mi¯ø» 

u¯õº ö\´P. 

———————— 



 

  

Ws 2

F–2458    

 

B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester  

Corporate Secretaryship 

BUSINESS STATISTICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Statistics. 

 ¦ÒÎ°¯À Áøμ¯Ö. 

2. What is primary data? 

 •ußø© {ø» uPÁÀPÒ GßÓõÀ GßÚ? 

3. What is the Mode value from the following data: 22, 25, 
28, 25, 35, 38, 41, 21, 48, 51, 59. 

 •Pmiß ©v¨ø£ ¤ßÁ¸ÁÚÁØÖÒ ¯õx 

 22, 25, 28, 25, 35, 38, 41, 21, 48, 51, 59. 

4. Give two limitations of Mean. 

 \μõ\›°ß SøÓPÒ Cμsøh u¸P. 

5. What is mean deviation? 

 \μõ\› Â»UP® GßÓõÀ GßÚ? 

Sub. Code 
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6. What are the various types of correlation? 

 JmkÓÂß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

7. List out the two advantages of Time series analysis. 

 Põ»®\õº öuõhº Á›ø\ B´Âß C¸ |ßø©PøÍ 

Á›ø\£kzxP. 

8. What is chain index number? 

 \[Q¼,SÔ±möhs GßÓõÀ GßÚ? 

9. What is probability? 

 {PÌuPÄ GßÓõÀ GßÚ? 

10. Write short note on conditional probability. 

 {£¢uøÚ {PÌuPÄ SÔzx ]Ö SÔ¨¦ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) Following are the marks, out of 100, obtained by 50 
students in statistics. 

70 45 33 64 50 25 65 75 30 20

55 65 60 58 52 56 45 42 35 40

47 51 39 61 33 59 49 41 15 55

42 63 82 65 45 63 54 52 48 46

57 53 55 42 45 39 64 55 26 18

  Make a frequency distribution taking a class 
interval of 10 marks; take the first class interval as 
0-10. 
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  100 ©v¨ö£sPÐUS 50 ©õnÁºPÒ ¦ÒÎ°¯¼À 

Gkzu ©v¨ö£sPÒ öPõkUP¨£mkÒÍÚ. 

70 45 33 64 50 25 65 75 30 20

55 65 60 58 52 56 45 42 35 40

47 51 39 61 33 59 49 41 15 55

42 63 82 65 45 63 54 52 48 46

57 53 55 42 45 39 64 55 26 18

  10 CøhöÁÎ°À, •uÀ ¤›Ä CøhöÁÎ 0–10 BP 

AvºöÁs Â{÷¯õP® ö\´P. 

Or 

 (b) Draw pie chart from the following data. 

Ocean Area (million sq. km.)

Pacific 70.8 

Atlantic 41.2 

Indian 28.5 

Antarctic 7.6 

Artic 4.8 

  ¤ßÁ¸® uPÁÀ Ai¨£øh°À Ámh ÂÍUP £h® 

Áøμ¯Ä®.  

PhÀ £μ¨£ÍÄ (ªÀ¼¯ß \.Q«)

Pacific 70.8 

Atlantic 41.2 

Indian 28.5 

Antarctic 7.6 

Artic 4.8 
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12. (a) Find out the geometric mean of the following: 

Marks No. of students

10-25 6 

25-40 22 

40-55 44 

55-70 26 

70-85 3 

85-100 1 

  ¤ßÁ¸ÁÚÁØÖÒ ö£¸USa \μõ\› Psk¤iUPÄ®.  

©v¨ö£s ©õnÁº GsoUøP

10-25 6 

25-40 22 

40-55 44 

55-70 26 

70-85 3 

85-100 1 

Or 

 (b) The values of median and arithmetic mean are 72 
and 78 respectively, estimate the value of the mode. 

  Cøh{ø»²® \μõ\› ©v¨¦ 72 ©ØÖ® 78 BS®. 

•Pmk ©v¨ø£ PnUQhÄ®. 

13. (a) Calculate mean deviation from the following series. 
X 10 11 12 13 14

F 3 12 18 12 3 

  \μõ\› Â»UP® Psk¤iUPÄ®. 

X 10 11 12 13 14

F 3 12 18 12 3 

Or 
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 (b) Calculate the standard deviation from the following: 

Marks No. of students

10 8 

20 12 

30 20 

40 10 

50 7 

60 3 

  ¤ßÁ¸ÁÚÁØÖÒ uμÂ»UP® PnUQhÄ®. 

©v¨ö£s ©õn GsoUøP 

10 8 

20 12 

30 20 

40 10 

50 7 

60 3 

14. (a) Calculate the 3-yearly moving averages of the 

production figures given below. 

Year Production Year Production

2000 15 2007 56 

2001 21 2008 63 

2002 30 2009 70 

2003 36 2010 74 

2004 42 2011 82 

2005 46 2012 90 

2006 50 2013 95 

  2014 102 
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  R÷Ç öPõkUP¨£mkÒÍ EØ£zv uPÁ¾UPõÚ 

‰ßÓõsk |P¸® \μõ\›ø¯ PnUQkP. 

Á¸h® EØ£zv Á¸h® EØ£zv

2000 15 2007 56 

2001 21 2008 63 

2002 30 2009 70 

2003 36 2010 74 

2004 42 2011 82 

2005 46 2012 90 

2006 50 2013 95 

  2014 102 

Or 

 (b) Construct the cost of living index number. 

Group Index No Weight

Food 330 50 

Clothing 208 10 

Fuel and Lighting 200 12 

House Rent 162 12 

Miscellaneous 180 16 

  ÁõÌUøPa ö\»Ä SÔ±mk GsønU PõsP. 

SÊ SÔ±mk Gs Gøh

Food 330 50 

Clothing 208 10 

Fuel and Lighting 200 12 

House Rent 162 12 

Miscellaneous 180 16 
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15. (a) A bag contains 7 red, 12 white, 4 green balls. What 

is the probability that: 

  (i) 3 balls drawn are all white and 

  (ii) 3 balls drawn are one of each color. 

  J¸ ø£°À 4 ]Á¨¦, 12 öÁÒøÍ, 4 £aø\ £¢xPÒ 

EÒÍÚ. 

  (i) 3 £¢xPÒ GkUP¨£k® ö£õÊx ‰ßÖ® 

öÁÒøÍ £¢xPÒ. 

  (ii) 3 £¢xPÒ GkUP¨£k® ö£õÊx JÆöÁõßÖ® 

J¸ {ÓzvÀ C¸¨£uØPõÚ {PÌuPÄ ¯õx? 

Or 

 (b) What are different methods of Probability. 

  {PÌuPøÁ PnUQk® £À÷ÁÖ •øÓPÒ ¯õøÁ? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the sources of Primary data. 

 •ußø© uPÁÀPÒ GÆÂu[PÎÀ ö£Ó¨£kQßÓx Gß£øu 

ÂÍUSP. 

17. Calculate Arithmetic Mean, Median and Mode. 
Annual Profits No. of Firm 
Less than 10 3 
Less than 20 18 
Less than 30 45 
Less than 40 93 
Less than 50 135 
Less than 60 161 
Less than 70 168 
Less than 80 170 
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 \μõ\› Cøh{ø» ©ØÖ® •Pmiß ©v¨ø£ PnUQkP.  

Á¸h C»õ£® {ÖÁÚ 

GsoUøP 

Less than 10 3 
Less than 20 18 
Less than 30 45 
Less than 40 93 
Less than 50 135 
Less than 60 161 
Less than 70 168 
Less than 80 170 

18. Find out the coefficient of correlation 
X 65 66 67 67 68 69 71 73
Y 67 68 64 68 72 70 69 70

 JmkÓøÁ Psk¤iUPÄ®. 

X 65 66 67 67 68 69 71 73
Y 67 68 64 68 72 70 69 70

19. Calculate from the following data the Fisher’s Ideal 
Index, Laspayre’s Index No and Passche’s Index number. 

 Items A B C D E 
2014 8 2 1 2 1  

Price 2015 20 6 2 5 5 
2014 50 15 20 10 40 

Quantity 2015 60 10 25 8 30

 ¤ßÁ¸ÁÚÁØÖÒ ¤åº SÔ±mk Gs, »õì¤¯º SÔ±mk 

Gs ©ØÖ® £õì] SÔ±mk Gs Psk¤iUPÄ®. 

 ö£õ¸Ò A B C D E 
2014 8 2 1 2 1  

Âø» 2015 20 6 2 5 5 
2014 50 15 20 10 40 

AÍÄ 2015 60 10 25 8 30

20. Explain the uses of probability. 

 {PÌuPÂß £¯ßPøÍ ÂÁ›. 

————————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fourth Semester 

Corporate  Secretaryship 

HUMAN RESOURCE MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Human resource management? 

 ©ÛuÁÍ ÷©»õsø©  GßÓõÀ GßÚ? 

2. Write any two needs of human resource management. 

 ©ÛuÁÍ ÷©»õsø©°ß H÷uÝ® C¸ ÷uøÁPøÍ GÊxP. 

3. Define HR planning. 

 ©ÛuÁÍ vmhªhÀ – Áøμ¯Ö. 

4. What is on the job training? 

 ÷Áø»°ß £°Ø]  GßÓõÀ GßÚ? 

5. What do you know about vestibule training? 

 £oa`ÇÀ  £°Ø]°øÚ £ØÔ } AÔÁÚ ¯õøÁ? 

6. Define job evaluation. 

 £o ÷©®£kzuÀ Áøμ¯Ö. 

Sub. Code 
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7. State the meaning of job specification. 

 £o uÛzxÁzvß Aºzu® GÊxP. 

8. Write a few lines on performance appraisal. 

 £o £õμõmk £ØÔ J›¸ Á›PÒ GÊxP. 

9. What is evaluation process? 

 £o ÷©®£kzu¼ß {ø»PÒ ¯õøÁ? 

10. Write about any two appraisal techniques. 

 £o £õμõmiØPõÚ  H÷uÝ® C¸ ~qUPÒ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Brief the objectives of human resource planning. 

  ©ÛuÁÍ ÷©®£õmk vmhªh¼ß ÷|õUP[PÒ SÔ¨¦ 

GÊxP. 

Or 

 (b) Explain the scope of HR planning. 

  ©ÛuÁÍ vmhªh¼ß  ÷|õUP[PÒ ÂÁ›. 

12. (a) What are the Requisites of HRP? Explain. 

  ©ÛuÁÍ vmhªh¼ß Ai¨£øh ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) List down the different recruitment process. 

  £À÷ÁÖ ÁøP¯õÚ £o {¯©Ú •øÓPÒ 

Á›ø\¨£kzxP. 
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13. (a) What is induction programmme? Explain its 

significance. 

  ¦x |£º ÂÈ¨¦nºÄ £°Ø]  GßÓõÀ GßÚ? Auß 

C¯À¦PøÍ GÊxP. 

Or 

 (b) Explain any two sources to recruit top position. 

  ÷©À©mh AvPõ› ÷uºÂß H÷uÝ® C¸ ÁÈPøÍ  

GÊxP.  

14. (a) Brief about the Needs of Training. 

  £°Ø]°ß ÷uøÁø¯ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) How will you evaluate a training programme? 

  £°Ø]°ß ©v¨¥k GÆÁõÖ ö\´Áõ´? 

15. (a) Brief any two Modern methods of appraisal. 

  £o¨£õμõmiØPõÚ H÷uÝ® C¸ uØPõ» •øÓPøÍ 

GÊxP. 

Or 

 (b) Brief about any two compensation plans. 

  H÷uÝ® C¸ {Áõμnz vmhzvøÚ GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. “HRM as a Profession” Explain. 

 ©ÛuÁÍ ÷©®£õk –öuõÈÀ ÂÁ›. 
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17. Write a Job description and Job Specification for the post 

of “MARKETING MANAGER’’. 

 \¢øu°À  £oUPõÚ SÔ¨¦ ©ØÖ® uÛzxÁ® GÊxP. 

18. Elaborate the different processes involved in recruitment 
function. 

 £o¯õÍº ÷uºÄ •øÓ°ß  £À÷ÁÖ £o {ø»PøÍ GÊxP. 

19. Explain the different kinds of training methods. 

 £°Ø]°ß £À÷ÁÖ ÁøPPøÍ GÊxP. 

20. Detail the need and importance of performance appraisal 
in an organization. 

 £o¨£õμõmiØPõÚ ÷uøÁ ©ØÖ® •UQ¯zxÁzøu GÊxP. 

—————— 
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Corporate Secretaryship 

COMMERCIAL LAW 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is illegal contract? 

 \mhzvØS ¦Ó®£õÚ J¨£¢u®  GßÓõÀ GßÚ? 

2. What is free consent? 

 •Ê J¨¦uÀ  GßÓõÀ GßÚ? 

3. What do you mean by offer? 

 ÁÇ[PÀ £ØÔ } AÔÁÚ ¯õøÁ? 

4. State the meaning of acceptance. 

 HØÖUöPõÒÐuÀ £ØÔ J›¸ Á›PÒ GÊxP. 

5. What is endorsement? 

 SÔ¨¤mk ÷©÷»ÖuÀ  GßÓõÀ GßÚ? 

6. What do you know about indemnity? 

 CÇ¨¥k  GßÓõÀ GßÚ? 

Sub. Code 
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7. What is guarantee? 

 EzvμÁõu®  GßÓõÀ GßÚ? 

8. What is breach of a contract? 

 J¨£¢u •ÔÄ  GßÓõÀ GßÚ? 

9. What do you know about surety? 

 EÖvzußø©  GßÓõÀ GßÚ? 

10. What is pledge? 

 Ah©õÚ®  GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the term expresses contract. 

  öÁÎ¨£kzu¨£mh J¨£¢u® £ØÔ ÂÁ›. 

Or 

 (b) Describe lawful consideration. 

  \mhŸv¯õÚ CÇ¨¥k £ØÔ SÔ¨¦ GÊxP. 

12. (a) Explain quasi contract. 

  Aøμ J¨£¢u® GßÓõÀ GßÚ? 

Or 

 (b) Differentiate between mistake and 
misrepresentation. 

  uÁÖ ©ØÖ® uÁÓõÚ ¤›v{vzxÁ® ÷ÁÖ£kzxP. 
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13. (a) Write a brief note on discharge of contract. 

  J¨£¢u ö\¯À£kzuÀ £ØÔ _¸UP©õP GÊxP. 

Or 

 (b) Explain the Remedies for breach of contract. 

  J¨£¢u •ÔÂØPõÚ wºÂøÚ ÂÍUSP. 

14. (a) What are role of finder of lost goods? 

  öuõø»¢u ö£õ¸mPøÍ Psöhk¨£Á›ß Phø© 

¯õx? 

Or 

 (b) Discuss the importance of carriage service. 

  \μUS ÁõPÚ ÷\øÁ°ß •UQ¯zxÁzøu  ÂÁ›UPÄ®. 

15. (a) Explain duties of common carriers. 

  ö£õx ÁõPÚ ÷\øÁ°ß Phø©PÒ ¯øÁ? 

Or 

 (b) What do you know about law agency? Explain. 

  •PÁº \mhzvøÚ £ØÔ } AÔÁÚÁØøÓ GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Differentiate between expressed and implied contract. 

 öÁÎ¨£õkøh¯ ©ØÖ® öÁÎ¨£õhØÓ J¨£¢u® 

÷ÁÖ£kzxP. 

17. Brief the impossibilities of discharge of contract. 

 J¨£¢u öÁÎ¨£õmiß C¯»õø©ø¯ SÔ¨ö£ÊxP. 
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18. Explain the laws relating to pledge. 

 Ah©õÚzvß «uõÚ \mhzvøÚ ÂÁ›. 

19. Explain the different law relating to carriage of goods 
service. 

 \μUS £¯n ÷\øÁ°À EÒÍ \mh[PøÍ ÂÁ›. 

20. Explain the conditions involved in consent of a contract. 

 J¨£¢uzvß J¨¦u¼ß «uõÚ Pmk¨£õkPÒ ÂÁ›. 

 

—————— 
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Corporate Secretaryship 

CORPORATE ACCOUNTING – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by preference shares? 

 •ßÝ›ø© £[SPÒ ¯õøÁ? 

2. What is authorized capital? 

 A[RPõμ •u½k  GßÓõÀ GßÚ? 

3. What do you mean by redeemable debentures? 

 Phß£zvμ® «m¦  GßÓõÀ GßÚ? 

4. State any two advantages of debentures. 

 Phß£zvμ |ßø©PÒ Cμsk TÖP. 

5. What is schedule VI of Companies Act? 

 {ÖÁÚa \mh® AmhÁøn VI GßÚ TÖQÓx? 

6. What is goodwill? 

 |ß©v¨¦  GßÓõÀ GßÚ? 

Sub. Code 
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7. What are the methods of goodwill computation? 

 |ß©v¨¦ PnURk® •øÓ ¯õøÁ? 

8. What is merging of a companies? 

 {ÖÁÚzøu JßÔøn¨£x  GßÓõÀ GßÚ? 

9. What do you mean by external reconstruction? 

 öÁÎ¨¦Ó ©Ö E¸ÁõUP®  GßÓõÀ GßÚ? 

10. What is purchase consideration? 

 öPõÒ•uÀ ö\´²® ÷£õx P¸zvÀ öPõÒÍ ÷Ási¯øÁ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the characteristics of a Company. 

  {ÖÁÚzvß £s¦PøÍ ÂÍUSP. 

Or 

 (b) X Ltd invited applications for 20000 shares of  
Rs. 100 each payable: Rs. 25 on application; Rs.35 
on allotment; Rs. 40 on call; 25000 shares were 
applied for 20000 shares and rejected the remaining 
applications. All moneys due were full received. 
Give journal entries. 

  X ¼m AøÇ¨¦ Âsn¨£® 20000 £[SPÒ ¹. 100 

Ãu® ö\¾zxuÀ Âsn¨£zvß ÷£õx ¹. 25; 

JxUSu¼ß ÷£õx ¹. 35; AøÇ¨¤ß ÷£õx ¹.  40; 

25000 £[SPÐUS  AøÇ¨¦ ö£Ó¨£mk  20000 

£[SPÒ HØÖUöPõsk «u•ÒÍ £[SPÒ 

{μõP›UP¨£mhx. AøÇ¨¦UPõÚ £n® ö£Ó¨£mk, 

£[S öÁÎ±miØPõÚ •uØSÔ¨÷£k u¸P. 
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12. (a) What are the conditions to be satisfied for issue of 

Bonus Shares? 

  öÁS©v £[SPÒ öÁÎ°k® ÷£õx G¢u ©õv›¯õÚ 

{ø»ø©PÒ v¸¨v JÎUS®? 

Or 

 (b) A share holder holding 500 equity shares of Rs.10 
each of a company issued at 10% discount. He paid 
Rs.2 on application Rs.3 on allotment but could not 
pay first call of Rs.3 per share and these shares 
were forfeited for nonpayment and subsequent  
re-issued for Rs. 7 per share. Give necessary journal 
entries. 

  J¸ £[Suõμº øÁzv¸US® 500 \© £[S £[SPÒ 

¹.10 Ãu® {ÖÁÚ® ÁÇ[Q¯x 10% uÒÐ£i 

•øÓ°À Âsn¨£zvß ÷£õx ¹. 2 Ãu® JxURmiß 

÷£õx ¹. 3 Ãu® •uÀ AøÇ¨¤ß ÷£õx ¹. 3 Ãu® 

©ØÖ® «u•ÒÍ £[SPÒ £Ô•uÀ ö\´¯¨£mk £n® 

ö\¾zuõu PõμnzuõÀ ©ØÖ® Akzukzu ©Ö ÁÇ[PÀ 

¹. 7 Ãu® £[SPÒ öÁÎ±miØPõÚ •uØSÔ¨÷£k 

u¸P. 

13. (a) Explain Profit Prior to Incorporation. 

  {Ö© £vÂØS •¢øu¯ C»õ£®  GßÓõÀ GßÚ? 

Or 

 (b) Give journal entries for redemption of preference 
shares. 

  •ßÝ›ø© £[SPøÍ «m¦ •øÓø¯ £vÂk ö\´P. 

14. (a) What are the general principles involved in 
valuation of fixed assets? 

  {ø»¯õÚ ö\õzxPøÍ ©v¨¥k ö\´ÁvÀ 

\®£¢u¨£mh ö£õx öPõÒøPPÒ ¯õøÁ? 

Or 
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 (b) What is Amalgamation? Explain the methods of 

calculating purchase consideration and distinction 
between Amalgamation and Absorption? 

  JßÔøn¨¦  GßÓõÀ GßÚ? JßÔøn¨¦ ©ØÖ® 

Dº¨£ø©¨¦ EÒÍ  ÷ÁÖ£õkPøÍ öPõÒ•uÀ ö\´²® 

÷£õx P¸zvÀ öPõÒÍ ÷Ási¯øÁ ©ØÖ® ©v¨¥k 

•øÓ ¯õøÁ? 

15. (a) The profits of MS Ltd. For the last 5 years were as 
follows: 

Year Rs. 

2004 18,000 

2005 22,000 

2006 15,000 

2007 27,000 

2008 25,000 

  Compute the value of goodwill of MS Ltd. On the 
basis of 4 years purchase of weighted average. 

  MS {ÖÁÚzvß Ph¢u I¢x Bsiß C»õ£ PnUS 

Â£μ® R÷Ç EÒÍÚ : 

Á¸h® ¹. 

2004 18,000 

2005 22,000 

2006 15,000 

2007 27,000 

2008 25,000 

  MS {ÖÁÚzvß |ß©v¨ø£ PnURk ö\´P. Ph¢u 

|õßS BskPÎß öPõÒ•uÀ Gøh°h¨£mh \μõ\› 

•øÓ°À. 

Or 
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 (b) What is managerial remuneration? Write a note. 

  {ºÁõPzvÚ¸UPõÚ \®£Í®  GßÓõÀ GßÚ? Aøu¨ 

£ØÔ GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. A limited company was incorporated with an authorized 
capital of Rs. 2,00,000 divided into 20000 equity shares of 
Rs. 10 each. The company issued 10000 equity shares at a 
premium of Rs. 2 per share payable Rs. 2 on application; 
Rs.5 (including Premium) on allotment, Rs.3 on first call 
and Rs.2 on final call. Applications were received for 
15000 shares. The directors made the allotment as 
follows: 

 To applicants of 3000 shares, the allotment was refused 
and to the remaining applicants’ allotment was made pro-
rata. Money paid in excess on application was adjusted 
towards the sum due on allotment. All the shareholders 
except that of the following paid the above call on the due 
date. Manak, a shareholder, to whom 200 shares were 
allotted failed to pay the allotment money and on his 
subsequent failure to pay the first call money, his share 
were forfeited. The forfeited shares were re-issued to 
Rajan as fully paid for Rs.9 per share. Give necessary 
journal entries. 

 J¸ Áøμ¯ÖUP¨£mh {ÖÁÚ® CønUP¨£mhx A[RPõμ® 

ö£ØÓ {ÖÁÚzxhß •uÀ ¹. 2,00,000 ¤›UP¨£mkÒÍ 

20000 \© £[SPÒ ¹. 10 Ãu®. A¢{ÖÁÚ® ÁÇ[Q¯ 10000 

\©£[S ©ØÖ® £›«¯® ¹. 2 Ãu® Âsn¨£® ¹. 2 Ãu® 

JxURk (¤›«¯®) Em£h ¹. 5 Ãu® •uÀ AøÇ¨¦ ¹. 3 

Ãu® ©ØÖ® CÖv AøÇ¨¦  ¹. 2 Ãu® Âsn¨£® 

ö£Ó¨£mhx 15000 £[SPÒ.  C¯US|º JxURk ö\´¯¨£mh 

ÂÁμ® : 
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 Âsn¨£uõμºPÒ 3000 £[SPÒ ©ØÖ® Âsn¨£[PÒ 

JxURk ©Özx ©ØÓ Âsn¨£® \õº¦øh¯x. Tku»õP 

£n® ö\¾zv¯ Âsn¨£® HØÖ ©ØÓ £[Suõμº \›¯õÚ 

AøÇ¨¤ß ÷£õx £n® ö\¾zv¸¢uõ¾® ""©nU'' GÝ® 

|£º 200 £[SPÒ •uÀ AøÇ¨¤ß ö£¯›À ö\¾zu 

uÁÔ¯uõÀ £[S JÖ¨¤Ç¨¦ ö\´x. ©Ö £[S öÁÎ±miÀ 

μõáß •Ê öuõøP¯õÚ ¹. 9 Ãu® ö\¾zvÚõº. •uÀ 

SÔ¨÷£k  GÊxP. 

17. A company has 4000, 7% R.P. Share Capital of Rs.100 

each fully paid. The company decides to redeem the 

shares on Dec. 31. 2007, at a premium of 5%. The 

company has sufficient profits. The following issues are 

made for the redemption purpose.  

 1000 Equity shares of Rs. 100 each at a premium of 10%; 

1000, 5% Debenture of Rs. 100 each. The issue was fully 

subscribed and all the amounts were received. The 

redemption was duly carried out. Write journal entries. 

 J¸ {ÖÁÚ® öPõsh 4000, 7% Bº.¤. £[S •u½k ¹.100 

Ãu® ö\¾zu¨£mk. A¢u {ÖÁÚ® £[SPøÍ ö£Ó 

•iöÁkzx 31 i\®£º 2007, ¤›«¯® 5% A¢{ÖÁÚ® 

÷uøÁ¯õÚ C»õ£® ö£ØÓx. RÌUPõq® Põμn[PÒ £[S 

«m£õÀ HØ£mhøÁ. 

 1000 \©£[S ¹. 100 Ãu® ¤›«¯® 10%,  1000, 5% 

Phß£zvμ® ¹. 100 Ãu® C¢u ¤μa\øÚUPõÚ •Ê wºÄ® 

\¢uõ ‰»® Á`À ö\´x. «m¦ £[S \›ö\´¯¨£mhx. •uØ 

SÔ¨÷£k GÊxP. 
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18. Umayya Ltd was incorporated on June 30, 2007 to 

acquire the business of Lal & Bros. as from January 1st  
2007 on the basis of the balance sheet dated 31/12/2007. 
The accounts for the year ended December 31, 2007 
disclosed the following:  

 (a) There was a gross profit of Rs. 2,40,000;  

 (b) The sales for the year amounted to Rs.12,00,000 of 
which Rs.5,40,000 was for the first six months.  

 (c) The expenses debited to profit and loss a/c included 
directors fees Rs. 15,000, bad debts Rs. 3,600; 
advertising Rs. 12,000 (Rs. 1,000 per month); 
Salaries and general expenses Rs. 64,000; 
preliminary expenses written off Rs.5,000; donation 
to political party Rs.5,000; Find out the profit made 
before and after the incorporation. 

 Eø©¯õ {ÖÁÚ® CønUP¨£mhx áüß 30, 2007 •uÀ 

»õÀ ©ØÖ®  ¤μuºì. áÚÁ› 1, 2007 •uÀ CÖ¨¦{ø» 

PnUS 31.12.2007. BP÷Á C¸¨¦{ø» PnUS u¯õ›zuÀ 

31.12.2007 RÌUPõq® Â£μ® : 

 (A) ö©õzu »õ£® ¹. 2,40,000; 

 (B) Bsiß ö©õzu ÂØ£øÚ ¹. 12,00,000 CvÀ •uÀ 

BÖ ©õu ÂØ£øÚ ¹. 5,40,000. 

 (C) C»õ£ ©ØÖ® |mh PnUQÀ C¯US|º Pmhn®  

¹. 15,000 ÁμõPhß ¹. 3,600 ÂÍ®£μ® ¹. 12,000  

(¹. 1,000 ©õu®)  \®£Í® ©ØÖ® ö£õx ö\»ÄPÒ  

¹. 64,000 •ußø© ö\»Ä ¹. 5,000 GÊu¨£hÂÀø». 

|ßöPõøh Aμ]¯À Pm]US ¹. 5,000 ö\»Ä ÂÁμ[PÒ 

£ØÖ øÁUP¨£mkÒÍx. C»õ£ PnUS {ÖÁÚ® 

CønUP¨£kÁuØS •ß ©ØÖ® ¤ß¦ Psk¤i. 
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19. Authorized Capital of Z Ltd is Rs. 5,00,000 (50000 shares 

of Rs.10 each) on 31/12/2006. 25000 shares were fully 
called up. On 31/12/2006, the following balances taken 
from the ledger of the company. 

 Rs.  Rs. 
Opening Stock 50,000 Bonus 10,500
Sales 4,25,000 Debtors 38,700
Purchases 3,00,000 Creditors 35,200
Wages 70,000 Plant and  
Discount allowed 4,200 machinery 80,500
Discount received 3,150 Furniture 17,100
Insurance paid up to 31.3.2007 6,720 Cash and Bank 1,34,700
Salaries 18,500 Reserve 25,000
Rent 6,000 Loan from MD 15,700
General expenses 8,950 Bad debts 3,200
Printing and stationery 2,400 Call in arrears 5,000
Advertising 3,800 P & L account 6,220
   

 Closing Stock Rs. 91,500; Depreciation on plant and 
Machinery, furniture @ 15% and 10% respectively; wages, 
salaries and rent outstanding amounts Rs.5,200, 
Rs.1,200, and Rs.600 respectively. Dividend @ 5% on paid 
up share capital is to be provided. Prepare final accounts 
of the company. 

 A[RP›UP¨£mh •uÀ Z ¼m {ÖÁÚzvß ¹. 5,00,000 

(50000 £[SPÒ ¹. 10 Ãu®) 31.12.2006 ß £i 25000 

£[SPÒ •ÊÁx©õP AøÇUP¨ö£ØÓx. 31.12.2006. 

RÌUPõq® C¸¨¦{ø» {ÖÁÚ ÷£÷μkPÎß C¸¢x 

ö£Ó¨£mhx. 

 ¹.   ¹. 

\μUQ¸¨¦ 50,000  FUPz öuõøP 10,500
ÂØ£øÚ 4,25,000  PhÚõÎPÒ 38,700
öPõÒ•uÀ 3,00,000  PhÜ¢÷uõºPÒ 35,200
T¼ 70,000  C¯¢vμ® 80,500
uÒÐ£i ÁÇ[P¨£mhx 4,200  AøÓP»ß 17,100
uÒÍ£i ö£Ó¨£mhx 3,150  öμõUP® (©) Á[Q 1,34,700
Põ¨¥k ö\¾zv¯x (31.3.07) 6,720  øP°¸¨¦ 25,000
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 ¹.   ¹. 

\®£Í® 18,500  C¯US|›h® C¸¢x Phß 15,700
ÁõhøP 6,000  ÁμõUPhß 3,200
ö£õx ö\»Ä 8,950  AøÇ¨¦ {¾øÁPÒ 5,000
Aa_ ©ØÖ® PõQu® 2,400  C»õ£ (©) |mh PnUS 6,220
ÂÍ®£μ® 3,800   

 CÖva \μUQ¸¨¦ ¹. 91,500; C¯¢vμ® ©ØÖ® 

AøÓP»ßPÎÀ ÷u´©õÚ® •øÓ÷¯ 15% ©ØÖ® 10% 

öPõkUP¨£h ÷Ási¯ ö£õÖ¨¦PÒ T¼ ¹. 5,200 \®£Í® 

¹. 1,200 ©ØÖ® ÁõhøP ¹.600 ö\¾zv¯ £[S •uÀ 5% 

£[Põuõ¯® JxUSP. 31.12.2006 UPõÚ CÖv{ø» PnUS 

u¯õº ö\´P. 

20. A Ltd was absorbed by B Ltd on 31st December 2007. On 
that date their balance sheet were as under: 

Liabilities B Ltd  A Ltd  Assets B Ltd A Ltd 

E. share of Rs. 10  5,00,000  2,00,000  Fixed assets 3,00,000 2,00,000

Reserve fund 1,00,000  50,000  Investments  – 20,000

Current liabilities 2,00,000  1,50,000  Current assets 5,00,000 1,80,000

 8,00,000  4,00,000   8,00,000 4,00,000

 The conditions of absorption are 2 shares of B Ltd of  
Rs. 10 each at a premium of Rs. 2.50 per share for every 
one share held in A Ltd. Prepare the ledger accounts in 
the books of A Ltd and pass entries in the books of B Ltd. 

 A ¼m |øhö£ØÓx öPõsi¸US®. B  ¼m Â¯õ£õμzøu 

31.12.2007 Dºzx öPõshx.  AßøÓ¯ ÷uv°ß C¸¨¦{ø» 

SÔ¨¦ ¤ßÁ¸©õÖ. 
ö£õÖ¨¦PÒ B ¼m  A ¼m  ö\õzxUPÒ B ¼m A ¼m 

£[SPÒ (¹ 10) 5,00,000  2,00,000  {ø»¯õÚ  

Põ¨¦ 1,00,000  50,000  ö\õzx 3,00,000 2,00,000

|h¨¦     •u½k – 20,000

ö£õÖ¨¦PÒ 2,00,000  1,50,000  |h¨¦ ö\õzx 5,00,000 1,80,000

 8,00,000  4,00,000   8,00,000 4,00,000
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  {£¢uøÚPÎß Ai¨£øh°À Dºzx öPõsk 2 

£[SPÒ  B ¼m ¹. 10 Ãu® ¤›«¯®  ¹. 2.50 Ãu® 

AøÚzx £[SPÐ® A ¼m ö£Ó¨£mhx. 

  ÷£÷μmkU PnUS A ¼m ©ØÖ® B ¼m ÷©÷» 

SÔ¨¤mkÒÍ Ai¨£øh°À u¯õº ö\´²®. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate Secretaryship 

ECONOMIC LAWS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define offences. 

 SØÓ® Áøμ¯Ö. 

2. What is penalty? 

 A£μõu® Gß£x ¯õx? 

3. What do you mean by Commission? 

 BønUSÊ £ØÔ } AÔÁx ¯õx? 

4. Who are all the members of Commission? 

 BønUSÊÂß EÖ¨¤ÚºPÒ ¯õº? 

5. Write a short note on Foreign Exchange. 

 AßÛ¯ ö\»õÁo £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

6. What is current account in Foreign Exchange? 

 AßÛ¯ ö\»õÁo°À EÒÍ |h¨¦ PnUS  GßÓõÀ GßÚ? 

Sub. Code 
7BCS5C3 
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7. Who is a consumer? 

 ~Pº÷Áõº Gß£Áº ¯õº? 

8. Write a short note on deficiency in service. 

 ÷\øÁ SøÓ£õk £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

9. What is Environment? 

 _ØÖa`ÇÀ  GßÓõÀ GßÚ? 

10. What do you meant by Environment pollutant? 

 _ØÖa`ÇÀ ©õ_£kzv, £ØÔ } ö£õ¸Ò TÖP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the scope of IRDA? 

  öuõÈØ\õø» ÷©®£õk ©ØÖ® JÊ[S£kzxuÀ 

\mhzvß ÷|õUP[PÒ  ¯õøÁ? 

Or 

 (b) What are the various types of licensing? 

  £À÷ÁÖ ÁøP¯õÚ E›©[PÒ ¯õøÁ? 

12. (a) What are the objectives of competition Act, 2002? 

  ÷£õmi¯õÍº \mh®, 2002 ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the prohibition of agreements of 
Competition Act, 2002? 

  ÷£õmi¯õÍº \mh®, 2002 À uøhö\´¯¨£mh 

J¨£¢u® ¯õøÁ? 
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13. (a) Bring out the differences between the FERA and 

FEMA. 

  FERA  ÂØS® FEMA ÂØS® EÒÍ Âzv¯õ\[PÒ 

öPõkUPÄ®. FERA-AßÛ¯ ö\»õÁÛ Pmk¨£õmk 

\mh® FEMA-AßÛ¯ ö\»õÁÛ ÷©»õsø© \mh®. 

Or 

 (b) What are the components of foreign trade? 

  A¯À|õmk Áõo£zvß EmTÖPÒ ¯õøÁ? 

14. (a) Brief the features of the Consumer Protection Act. 

  ~Pº÷Áõº £õxPõ¨¦ \mhzvß C¯À¦PøÍ _¸UQ 

TÖP. 

Or 

 (b) What are the rights of consumers? 

  ~Pº÷Áõ›ß E›ø©PÒ ¯õøÁ? 

15. (a) What are powers given to the Central Board by the 

Environment Protection Act? 

  _ØÖa`ÇÀ £õxPõ¨¦ \mhzvß RÌ ©zv¯ SÊÂß 

AvPõμ[PÒ ¯õøÁ? 

Or 

 (b) What are the importance of Environment Protection 

Act? 

  _ØÖa_ÇÀ £õxPõ¨¦ \mhzvß •UQ¯zxÁ® ¯õøÁ? 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the provisions of the IRD Act. 

 IRD \mhzvß Âv•øÓPøÍ ÂÁ›. 

17. Explain the duties and powers of competition commission 
of India. 

 C¢v¯ ÷£õmi¯õÍº SÊÂß Phø©PÒ ©ØÖ® 

AvPõμ[PøÍ ÂÍUSP. 

18. Explain the objectives of FEMA 1999. 

 AßÛ¯ ö\»õÁo ÷©»õsø© \mhzvß ÷|õUP[PøÍ 

ÂÍUSP. 

19. Discuss in details the objects of Consumer Protection Act. 

 ~Pº÷Áõº £õxPõ¨¦ \mhzvß C»USPøÍ ÂÁõvUPÄ®. 

20. Elucidate the features of Environmental Protection Act, 
1986. 

 _ØÖa`ÇÀ £õxPõ¨¦ \mh®, 1986ß C¯À¦PøÍ 

ÂÁ›UPÄ®. 

 

—————— 
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Corporate Secretaryship  

Elective – DIRECT TAXES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What are the basic conditions? 

 Ai¨£øh {£¢uøÚPÒ ¯õøÁ? 

2. State the meaning of agriculture income. 

 ÂÁ\õ¯ Á¸©õÚzvß ö£õ¸Ò TÖ. 

3. Write a few lines on GAV. 

 GAV CÀ ]» Á›PøÍ GÊx[PÒ. 

4. Brief the term “Unrealized rent”. 

 “A[RP›UP¨£hõu ÁõhøP” GßÓ Áõºzøuø¯ _¸UP©õP. 

5. What do you know about disallowed expenses? 

 AÝ©vUP¨£hõu ö\»ÄPÒ £ØÔ E[PÐUS GßÚ öu›²®. 

Sub. Code 
7BCSE1A 
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6. How will you treat overvaluation of closing stock in 

computation of income from business? 

 ÁoPzv¼¸¢x Á¸©õÚzøu PnUQkÁvÀ ‰i¯ 

£[SPÎß ©v¨¥møh }[PÒ GÆÁõÖ P¸xÃºPÒ? 

7. Write a few lines on CII. 

 CII CÀ ]» Á›PøÍ GÊx[PÒ. 

8. What do know about STCG? 

 STCG £ØÔ GßÚ öu›²®? 

9. What is casual income? 

 \õuõμn Á¸©õÚ® GßÓõÀ GßÚ? 

10. State the meaning sub letting income. 

 EÒ ÁõhøP Gß£øu ö£õ¸Ò TÖ. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mr. Ankit Singh left Indian for the first time on  
15th  December 2019 and returned back to India on  
2nd  February 2018. Identify his residential status 
for the AY 2019–20. 

  v¸. A[Qz ][  •uÀ •øÓ¯õP C¢v¯õÂß Âmk  

15 Áx i\®£º 2019 ©ØÖ® «sk® C¢v¯õ 

v¸®¤Úõº 2 Áx ¤¨μÁ› 2018. AY 2019–20 UPõÚ 

AÁμx Si°¸¨¦ {ø»ø¯ Aøh¯õÍ® PõnÄ®. 

Or 

 (b) Mr. Sahil an Indian citizen goes to Singapore for 
employment during the previous year 2018–19 on 
1st September 2019. He was in India from his birth 
during the year 1996. Identify his residential status. 
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  v¸. \õîÀ J¸ C¢v¯ Si©Pß •¢øu¯ BsiÀ 

÷Áø» ][P¨§º ö\ÀQÓx. 2018&19 1 Áx ö\¨h®£º 

2019, AÁº 1996 B® BsiÀ ¤Ó¢uv¼¸¢x 

C¢v¯õÂÀ C¸¢uõº. AÁμx Si°¸¨¦ {ø»ø¯ 

Aøh¯õÍ® PõnÄ®. 

12. (a) Mr. Nadeem ahamed resides in Chennai and gets 
Rs. 10,000 per month as basic salary, Rs. 8,000 per 
month as DA(entering service benefits) Rs.12,000 
per month as HRA. He pays Rs.10,000 per month as 
rent. Calculate taxable HRA. 

   v¸. |õw® Aí©z ö\ßøÚ Á]UQßÓõº. ¹.10,000 

©õuzvØS Ai¨£øh \®£Í® ÷£õßÓ, ¹.8,000 

©õuzvØS iH (~øÇ²® ÷\øÁ |ßø©PÒ) Ãmk 

ÁõhøP¨£i ÷£õßÓ ©õuzvØS ¹.12,000 ÷£õßÓ 

ö£ÖQÓõº. AÁº ©õuzvØS ¹.10,000 ÁõhøPUS 

ö\¾zxQÓõº. Á› ÂvUPUTi¯ HRA IU 

PnUQk[PÒ. 

Or 

 (b)  Mr. Sourabh vohra retired from service on 12, May 
2019 after serving 33 years and 8 months in BEL 
Ltd. He is covered by payment of gratuity act 1972. 
The employer paid him a gratuity of Rs.2,75,000 his 
monthly basic salary at the time of retirement was 
Rs.12000, DA Rs.4000 (does not enter into service 
benefits) and HRA Rs.3 000. calculate the amount of 
exempted gratuity. 

  v¸. ö\Íμ¨ ÷Áõðμõ ö£À ¼ªöhm {ÖÁÚzvÀ  

33 BskPÒ ©ØÖ® 8 ©õu[PÒ £o¯õØÔ¯ ¤ßÚº 

÷© 12, 2019, AßÖ ÷\øÁ°À C¸¢x K´Ä ö£ØÓõº. 

1972 B® Bsk Qμõa_mi \mh® ö\¾zxÁuß ‰»® 

AÁº £õxPõUP¨£kQÓõº. •u»õÎ AÁ¸US 

¹.2,75,000 Qμõa_mi ÁÇ[QÚõº. K´Ä ö£Ö® ÷£õx 

AÁμx ©õuõ¢vμ Ai¨£øh \®£Í® ¹.12,000, i.H 

¹.4,000. (÷\øÁ \¾øPPÎÀ ~øÇÁvÀø») ©ØÖ® 

Ga. Bº H ¹.3,000 Â»US AÎUP¨£mh Qμõa_mi°ß 

AÍøÁU PnUQk[PÒ. 



F–2463 

  

  4

Wk ser
13. (a) Calculate Gross Annual Value from the following. 

Particulars House 1 House 2 House 3 

MRV 1,15,000 1,20,000 1,10,000

FRV 1,10,000 1,15,000 1,15,000

SR N.A 1,11,000 1,16,000

Actual Rent 95,000 89,000 1,10,000

   ¤ßÁ¸ÁÚÁØÔ¼¸¢x ö©õzu Á¸hõ¢vμ ©v¨ø£ 

PnUQk[PÒ.  

ÂÁμ[PÒ Ãk 1 Ãk 2 Ãk 3 

MRV UPõÚ 1,15,000 1,20,000 1,10,000

FRV 1,10,000 1,15,000 1,15,000

GìBº Gß.H. 1,11,000 1,16,000

Esø©¯õÚ ÁõhøP 95,000 89,000 1,10,000

Or 
 (b) From the following, calculate NAV 
  MRV  Rs. 28,000 
  FRV  Rs. 34,000 
  SR  Rs. 35,000 
  AR  Rs. 300 per month 
  Municipal tax  Rs. 1,500 is paid by the owner. 
  ¤ßÁ¸ÁÚÁØÔ¼¸¢x, NAVIU PnUQk[PÒ 

   G®.Bº.Â.    ¹. 28,000 

   GL¨.Bº.Â.  ¹. 34,000 

   Gì.Bº.   ¹. 35,000 

   AR ©õuzvØS   ¹. 300 

  |Pμõm] Á›   ¹. 1,500 E›ø©¯õÍμõÀ   

   ö\¾zu¨£kQÓx 
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14. (a) Explain any five disallowed expenses. 

  AÝ©vUP¨£hõu I¢x ö\»ÄPÒ ÂÍUS[PÒ. 

Or 

 (b)  How will you treat the bad debts allowed earlier 
recovered in income from business? 

  ÁoPzv¼¸¢x Á¸©õÚzvÀ •ßÚº «mP¨£mh 

÷©õ\©õÚ PhßPøÍ GÆÁõÖ |hzxÃºPÒ? 

15. (a) From the following details calculate capital gain : 

  (i) Sale consideration of residential house 
Rs.25,000 on 26.10.2018 [CII:280] 

  (ii) Cost of acquisition of house on 1.8.2006 is 
Rs.7,02,000 [CII:17] 

  (iii) New residential house acquired on 2nd  
February 2019 is Rs.7,50,000. 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ‰»uÚ Buõ¯zøuU 

PnUQk[PÒ.  

   (i) 26.10.2018 AßÖ Si°¸¨¦ Ãmiß ¹. 25,000 

ÂØ£øÚ £›^¼¨¦ [CII:280] 

   (ii) 1.8.2005 AßÖ Ãk Áõ[SÁuØPõÚ ö\»Ä  

¹. 7,02,000 [CII:117] 

  (iii) ¦v¯ Si°¸¨¦ ÃmiÀ  Áõ[Q¯x 2Áx ¤¨μÁ› 

2019 ¹. 7,50,000 EÒÍx. 

Or 
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 (b) Ms. Catherine furnishes the following details of his 

income. Calculate income from other sources for the 
previous year. 

  (i) Rs.25,000 received as interim from 
government securities. Rs.2,000 spent towards 
collection charges. 

  (ii) Dividend from an Indian company Rs.40,000 

  (iii) Dividend from Foreign company Rs. 15,000 

  (iv) Family pension Rs. 12,000. 

   v¸©v. ÷Pzu›ß uÚx Á¸©õÚzvß ¤ßÁ¸® 

ÂÁμ[PøÍ AÎUQÓõº. •¢øu¯ BsiØPõÚ ¤Ó 

‰»[PÎ¼¸¢x Á¸©õÚzøuU PnUQk[PÒ.  

   (i) J¸ Aμ_ £zvμ[PÎÀ C¸¢x CøhUPõ»©õP  

¹.25,000 ö£Ó¨£mhx. Á`À Pmhn[PÐUPõP  

¹. 2,000 ö\»Âh¨£mhx.  

   (ii) J¸ C¢v¯ {ÖÁÚzvhª¸¢x iÂöhsm  

¹. 40,000 

   (iii) öÁÎ|õmk {ÖÁÚzvhª¸¢x DÄzöuõøP  

¹. 15,000 

   (iv) Sk®£ K´Åv¯® ¹. 12,000. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Following are the income of Mr.Gaur for the previous 
year. Calculate his taxable income on the assumption 
that he is  

(a)  Ordinary resident  

(b)  Not an Ordinary resident  

(c)  Non resident 
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  (i) Profit from business carried from Hyderabad 

Rs. 50,000 

  (ii) Income accrued in India but received in 
Hongkong Rs.75,000 

  (iii) Past untaxed income brought into India 
during this previous year Rs. 42,000 

  (iv) Income from house property situated in 
Srilanka Rs. 48,000 

  (v) Income from agriculture in USA Rs. 1,00,000 

  (vi) Dividend from Indian company Rs. 1,00,000 

  (vii) Dividend from foreign company Rs.1,50,000 
received in India 

  (viii) Income from Kenya but controlled from India 
Rs. 2,00,000 

  (ix) Income from business Switzerland but 
controlled from Bangladesh Rs.50,0000 

  (x) Income accrued in Indonesia Rs.2,50,000, 2/5th  
received in India. 

 •¢øu¯ BsiØPõÚ v¸. ÷Põ›ß Á¸©õÚ® ¤ßÁ¸©õÖ. 

AÁº  

 (A)  J¸ \õuõμn Si°¸¨£õÍº  

 (B)  J¸ \õuõμn Si°¸¨£õÍº AÀ» GßÖ P¸v AÁμx 

Á›Âv¨¦ Á¸©õÚzøu PnUQk[PÒ. 

 (C) Si²›ø©¯ØÓÁº. 

   (i) øíuμõ£õzvÀ C¸¢x ÷©ØöPõÒÍ¨£k® 

ÁoPzvß »õ£® ¹. 50,000 

   (ii) C¢v¯õÂÀ Á¸©õÚ® Dmh¨£mhx, BÚõÀ 

íõ[Põ[ ¹. 75,000 CÀ ö£Ó¨£mhx.  

   (iii) C¢u •¢øu¯ BsiÀ ¹. 42,000 C¢v¯õÂÀ 

öPõsk Áμ¨£hõu Ph¢u Á¸©õÚ®. 

   (iv) ÃmiÀ ö\õzx C¸¢x Á¸©õÚ Aø©¢xÒÍ 

C»[øP ¹. 48,000 
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   (v) Aö©›UPõÂÀ ÂÁ\õ¯zvß Á¸©õÚ®  

¹. 1,00,000 

   (vi) C¢v¯ {ÖÁÚ©õÚ iÂöhsm ¹. 1,00,000 

   (vii) C¢v¯õÂÀ ö£Ó¨£mh öÁÎ|õmk {ÖÁÚ©õÚ 

¹. 1,50,000 iÂöhsm  

   (viii) öPß¯õÂ¼¸¢x Á¸©õÚ® BÚõÀ C¢v¯õÂÀ 

C¸¢x Pmk¨£kzu¨£kQÓx ¹. 2,00,000 

   (ix) ÁoP _Âm\º»õ¢vÀ C¸¢x Á¸©õÚ® BÚõÀ 

£[PÍõ÷uæÀ C¸¢x ¹.5,00,000 

Pmk¨£kzu¨£kQÓx.  

  (x) C¢÷uõ÷Ú]¯õÂÀ ö£Ó¨£mh Á¸©õÚ® 

C¢v¯õÂÀ ö£Ó¨£mh ¹. 2,50,000, 2/5Áx. 

17. From the following calculate gross salary 

 Basic salary Rs. 8,000 p.m. 

 Bonus Rs. 5,000 

 DA Rs. 6,000 p.m. 50% forms part of salary] 

 Tiffin allowance Rs. 400 p.m. 

 Non- practicing allowance Rs. 250 p.m. 

 Deputation allowance Rs. 150 p.m. 

 Overtime allowance Rs. 250 p.m. 

 Special allowance Rs. 100 p.m. 

 Servant allowance Rs.75 p.m. 

 HRA Rs. 1,000 p.m. 

 EA Rs. 750 p.m. 

 The employee is a government servant and he resided in 
his own house and Works in Mysore. It is the usual 
practices to give 2% as commission on turnover achieved 
The turnover achieved by the employee is Rs. 50,000. 
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 ¤ßÁ¸ÁÚÁØÔ¼¸¢x ö©õzu \®£ÍzøuU PnUQk[PÒ. 

 Ai¨£øh \®£Í® CμÄ 8000 ©o 

 ÷£õÚì ¹. 5,000 

 iH¹. 6,000 ©o [50% \®£Ízvß J¸ £Sv] 

 iL¤ß öPõk¨£ÍÄ ©õø» 400 ©o 

 £°Ø] ö£Óõu öPõk¨£ÍÄ ¹. 250 ©o 

 ¤μv{vPÒ öPõk¨£ÍÄ ©v¯® ¹. 150 

 TkuÀ ÷|μ öPõk¨£ÍÄ ¤Ø£PÀ ¹. 250 

 ]Ó¨¦ öPõk¨£ÍÄ ©v¯® ¹. 100 

 ÷\øÁU öPõk¨£ÍÄ ©õø» 75 ©o 

 Ga.Bº.H ¹. 1,000 ©o 

 D.H. ¹. 750 ©o 

 FÈ¯º J¸ Aμ_ FÈ¯º, AÁº uÚx ö\õ¢u ÃmiÀ Á]zx 

ø©`›À £o¦›QÓõº. Aøh¯¨£mh ÂØÖ•uÀ «uõÚ 

PªåÚõP 2% öPõk¨£x ÁÇUP©õÚ |øh•øÓPÒ. FÈ¯º 

Aøh¢u Á¸Áõ´ ¹. 50,000. 

18. From the following calculate IFHP of Mr. Ashok who 
owns 5 houses. 

Particulars House 1 House 2 House 3 House 4 House 5 
MV 45,000 55,000 65,000 75,000 50,000 
FRV 50,000 45,000 60,000 70,000 60,000 
SR NA 49,000 NA 71,500 55,000 
Nature of 
occupation 

S/O for 
own 
residence 

L/O L/O S/O for own 
business 

S/O for own 
residence 

Municipal tax 
(Rs.15,000 for 5 
houses) 

– – – – – 

Load amount 20,000 30,000 40,000 50,000 60,000 
Date of loan 1st 

August 
2011 

1st 
August 

2011 

1st 
August 

2011 

1st 
September 

2011 

1st 
September 

2011 
Date of 
completion 

June 
2015 

June 
2015 

June 
2015 

Feb 2020 Feb 2020 

Date of 
repayment 

May 2019 June 
2015 

June 
2015 

Feb 2020 Feb 2020 

Date of 
repayment 

May 2019 June 
2019 

May 
2019 

July 2019 July 2019 



F–2463 

  

  10

Wk ser
 (a) Municipal tax for house 2 and house 4 are due 

 (b) Interest for house 3 and 5 are due 

 (c) House 2 and house 3 are letout for a monthly rent of 
Rs.3500 and Rs.3 750 

 (d) House 2 was vacant for 2 months 

 (e) For house 3 three months rent could not be realized. 
The Unrealized rent is approved by the AO 

 (f) 12.5% interest is to be charged for house 1, house 3 
and house 5 and 10% for house 2 and house 4. 

 ÃkPøÍU öPõsh v¸. A÷åõUQß IFHP IU PnUQk[PÒ. 

ÂÁμ[PÒ Ãk 1 Ãk 2 Ãk 3 Ãk 4 Ãk 5 

G®.Â. 45,000 55,000 65,000 75,000 50,000

FRV 50,000 45,000 60,000 70,000 60,000

Gì.Bº Gß.H 49,000 Gß.H 71,500 55,000

BUQμª¨¤ß 

C¯À¦ 

ö\õ¢u  

Si°¸¨¦US 

Gì 

GÀ/K GÀ/K ö\õ¢u 

ÁoPzvØPõÚ 

Gì/K 

ö\õ¢u  

Si°¸¨¦US 

Gì/K 

|Pμõm] Á› 

(5 ÃkPÐUS  

¹. 15,000) 

– – – – – 

Phß öuõøP 20,000 30,000 40,000 50,000 60,000 

Phß ÷uv 1 BPém  
2011 

1 BPém 

2011 
1 BPém 

2011 
1 ö\®h®£º

2011 
1 ö\®h®£º 

2011 
{øÓÄ  

ö\´¯¨£mh  

÷uv 

áüß  
2015 

áüß 

2015 
áüß  
2015 

¤¨μÁ› 

2020 
¤¨μÁ› 
2020 

v¸¨¤a  

ö\¾zx®  

÷uv 

÷©  

2019 
áüß 

2015 
áüß  
2015 

¤¨μÁ›  
2020 

¤¨μÁ› 

2020 

v¸¨¤a  

ö\¾zx® ÷uv 

÷©  
2019 

áüß 

2019 
÷©  

2019 
áüø»  
2019 

áüø»  
2019 

 (A) Ãk 2 ©ØÖ® Ãk 4 UPõÚ |Pμõm] Á› ö\¾zu¨£h 

EÒÍx.  

  (B) Ãk 3 ©ØÖ® 5UPõÚ Ámi ö\¾zu¨£h EÒÍx.  
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  (C) Ãk 2 ©ØÖ® Ãk 3 BQ¯øÁ ©õuzvØS ¹. 3,500 

©ØÖ® ¹. 3,750US GÀ/K BS®.  

  (D) Ãk 2 ©õu[PÒ Põ¼¯õP C¸¢ux.  

  (E) ö£õÖzuÁøμ CÀ»® 3 ‰ßÖ ©õu[PÐUS ÁõhøUS 

Enº¢x öPõÒÍ •i¯ÂÀø». ©v¨¤h¨£hõu ÁõhøP 

AO BÀ A[RP›UP¨£mkÒÍx.  

 (F) Ãk 1, Ãk 3 ©ØÖ® Ãk 5 ©ØÖ® Ãk 2 ©ØÖ® Ãk 4 US 

12.5% Ámi Á`¼UP¨£h ÷Ásk®. 

19. Calculate income from profession form the following 
receipts and payments given by Dr. Karthick. 

Receipts Rs. Payments Rs. 

To Balance b/d 1,20,000 By Car expenses 24,000

To Fee from client  By Office expenses 6,000

2016-17 25,000 By Salary to staff 7,000

2017-18 30,000 By Interest on loan 1,000

2028-19 32,000 By Income tax 1,500

To Presents from clients 20,000 By Income tax penalty 600

To Winning from lottery 24,000 By Wealth tax 250

  By Purchase cost 5,000

  By Balance c/d 2,05,650

 2,51,000  2,51,000

 Other information : 

 (a) Depreciation of Rs. 2,500 is to be provided 

 (b) Consider Rs. 1,500 as opening stock and Rs. 1,000 
as closing stock 

 (c) Car is 60% used for official purposes 

 (d) Income from other sources Rs. 30,000. 
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  öuõÈ¼À C¸|x Á¸©õÚzøu PnUQk[PÒ hõUhº 

PõºzvU ÁÇ[Q¯ ¤ßÁ¸® μ^xPÒ ©ØÖ® öPõk¨£ÚÄPÒ.  

μ^xPÒ ¹. öPõk¨£ÚÄ ¹. 

\©{ø»¨£kzu b/d 1,20,000 Põº ö\»ÄPÒ ‰»® 24,000

ÁõiUøP¯õÍ›hª¸¢x   A¾Á»P ö\»ÁPÒ ‰»® 6,000

Pmhn®  FÈ¯ºPÐUS \®£Í® 7,000

2016-17 25,000 PhÝUPõÚ Ámi ‰»® 1,000

2017-18 30,000 Á¸©õÚ Á› ‰»® 1,500

2028-19 32,000 Á¸©õÚ Á› A£μõu® ‰»® 600

ÁõiUøP¯õÍºPÎhª¸¢x  

ÁÇ[PÀPÐUS 

20,000 ö\ÀÁ Á› ‰»® 250

»õmhõ›°¼¸¢x öÁØÔ 

ö£Ó 

24,000 öPõÒ•uÀ ö\»Ä ‰»® 5,000

  C¸¨¦ ‰»® c/d 2,05,650

   

 2,51,000  2,51,000

 ¤Ó uPÁÀ : 

 (A) ¹. 2,500 ÷u´©õÚ® ÁÇ[P¨£h EÒÍx 

 (B) öuõhUP £[PõP ¹. 1,500 BPÄ®, ¹. 1,000 I CÖv 

£[PõPÄ® P¸x[PÒ 

 (C) Põº 60% Ezv÷¯õP§ºÁ ÷|õUP[PÐUPõP 

£¯ß£kzu¨£kQÓx 

 (D) ¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® ¹. 30,000. 

20. From the following particulars submitted by. Mr. Raja, 
calculate income from other sources 

 (i) Dividend from Indian company Rs. 8,000 

 (ii) Interest on fixed deposit with bank Rs. 20,000 

 (iii) Income from units of UTI Rs. 3,000 

 (iv) Interest accrued on NSC VIII issue Rs. 4,000 

 (v) Honorarium received as examiner Rs. 42,500 
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 (vi) Gifts from friends Rs. 55,000 

 (vii) Employer’s contribution to URPF and interest 
thereon Rs. 66,000 

 (viii) Mr. Raja’ own contribution to URPF Rs. 51,000 

 (ix) Interest own contribution to URPF Rs. 15,000 

 (x) Withdrawal from NSS account (1987) including 
interest Rs. 5,000 

 (xi) Interest on deposit with private concerns Rs.,25,000 

 (xii) Interest on debentures Rs.,3,300 

 (xiii) Winnings from game show (Gross) Rs. 1,00,000 

 (xiv) TDS on winnings from game show @ 30% 

 (xv) Deposit in PPF alc Rs.,42,000. 

 \©º¨¤zu ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x v¸. μõáõ, ¤Ó 

‰»[PÎ¼¸¢x Á¸©õÚzøuU PnUQk[PÒ. 

 (i)  C¢v¯ {ÖÁÚ©õÚ iÂöhsm ¹. 8,000 

 (ii) ¹. 20,000 Á[Q°À {ø»¯õÚ øÁ¨¦UPõÚ Ámi 

 (iii) ²iI ¹. 3,000 A»SPÎ¼¸¢x Á¸©õÚ® 

 (iv) NSC VIII öÁÎ±miÀ ¹. 4,000 vμmh¨£mh Ámi 

 (v) Honorarium £›÷\õuøÚ¯õÍμõP ¹.42,500 

ö£Ó¨£mhx 

 (vi) |s£ºPÎhª¸¢x £›_PÒ ¹. 55,000 

 (vii) ²Bº¤GL¨ ©ØÖ® Auß ÁmiUS •u»õÎ°ß 

£[PÎ¨¦ ¹. 66,000 
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 (viii) ²Bº¤GL¨ ¹. 51,000 US v¸. μõáõÂß ö\õ¢u 

£[PÎ¨¦ 

 (ix) ²Bº¤GL¨ ¹. 15,000 US Ámi ö\õ¢u £[PÎ¨¦ 

 (x) Ámi ¹. 5,000 Em£h GßGìGì PnUQ¼¸¢x (1987) 

v¸®£¨ ö£ÖuÀ 

 (xi) uÛ¯õº AUPøÓPÐhß øÁ¨¦z öuõøP ¹. 25,000 

 (xii) PhÜmkUPõÚ Ámi ¹. 3,300 

 (xiii) ÂøÍ¯õmk {PÌa]°ß öÁØÔPÒ (ö©õzu®)  

¹. 1,00,000 

 (xiv) ÷P® ÷åõ @ 30% öÁØÔPÎÀ i.i.Gì 

 (xv) ¤¤GL¨ öh£õ]m P/S ¹. 42,000. 

 
————————  
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B.Com. (CS) DEGREE EXAMINATION, NOVEMBER 2019 

Fifth Semester 

Elective — COST ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is costing? 

 AhUP Âø»°¯À GßÓõÀ GßÚ? 

2. What do you mean by prime cost? 

 •ußø©a ö\»Ä £ØÔ }Âº AÔ¢ux ¯õx? 

3. Write short note on re order level. 

 ©Ö Bøn AÍÄ {ø» SÔzx SÔ¨¦ GÊxP. 

4. What is material control? 

 ‰»¨ö£õ¸Ò Pmk¨£õk GßÓõÀ GßÚ? 

5. Write short note on time rate system. 

 ÷|μU T¼ •øÓ SÔ¨¦ ÁøμP. 

6. What is Job card? 

 £o Amøh GßÓõÀ GßÚ? 

Sub. Code 
7BCSE2A 
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7. What is factory cost? 

 öuõÈØ\õø» ö\»Ä GßÓõÀ GßÚ? 

8. Write a note on overhead. 

 ÷©Øaö\»ÄPÒ £ØÔ SÔ¨¦ GÊxP. 

9. What is job costing? 

 £o•øÓ AhUPÂø»°¯À GßÓõÀ GßÚ? 

10. What is abnormal gain? 

 A\õuõμn C»õ£® GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of cost accounting? 

  AhUPÂø»°¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the main differences between financial 
accounting and cost accounting. 

  {vUPnUQ¯¾US® AhUPÂø» PnUQ¯¾US® 

EÒÍ •UQ¯ ÷ÁÖ£õkPøÍ Gkzx TÓÄ®. 

12. (a) Calculate EOQ from the following information: 

  Annual consumption 3,000 units; 

  Cost of material per unit - Rs. 10; 

  Cost of placing one order - Rs. 30; 

  Annual carrying cost of one unit - Rs. 1. 

  RÌPõq® uPÁÀPÎ¼¸¢x ]UPÚ öPõÒ•uÀ 

AÍøÁU PõsP. 

  Bsk £¯ß£õk & 3000 A»SPÒ 

  ‰»¨ö£õ¸mPÎß AhUPÂø» Kº A»QØS ¹. 10 

  Kº AÝ¨£õøÚ AÝ¨¦ÁuØS BS® ö\»Ä ¹. 30 

  Kº A»S ÷\P›zx øÁ¨£uØPõÚ Á¸h ö\»Ä ¹. 1.  

Or 
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 (b) Calculate Economic order quantity, number of order 

and the frequency of orders in days from the 
following information. 

  Annual usage – 20,000 units, Buying cost per  
order – Rs. 10, Cost per unit – Rs. 100 and cost of 
carrying inventory — 10% 

  ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x, ]UPÚ öPõÒ•uÀ 

AÍÄ, öPõÒ•uÀ BønPÎß GsoUøP ©ØÖ® 

BønPÐUS Cøh°»õÚ Põ» AÍÄ PnUQkP. 

  Bsk ~PºÄ& 20,000 

  J¸ BønUS Áõ[S® ö\»Ä ¹. 10 

  J¸ A»Qß Âø» ¹. 100 

  \μUS £õxPõ¨¦ ö\»Ä & 10%. 

13. (a) Calculate Direct labour hour rate from the 
following: 

  Total number of workers 100; 

  Short and idle time 5%; 

  Working days in a year 300 

  Factory overheads Rs. 11,400; 

  Number of hours per day worked 8; 

  Gift to workers Rs. 1,000. 

  RÌ Á¸£ÚÁØÔ¼¸¢x ÷|μi öuõÈ»õÍº ÷|μ Âuzøu 

PnUQkP. 

  ö©õzu öuõÈ»õÍºPÎß GsoUøP 100 

  SøÓ¢u ©ØÖ® ÃnõÚ ÷|μ® 5% 

  Bsk ÷Áø» |õmPÒ 300 

  EØ£zv ÷©Øaö\»Ä® ¹. 11,400 

  |õÒ JßÖUS ÷Áø» ÷|μ® 8 ©oPÒ 

  öuõÈ»õÍºPÐUS öÁS©v AÎzux ¹. 1,000. 

Or 
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 (b) Calculate total monthly remuneration of worker 

according to Halsey premium plan.  

  Time allowed = 48 hours 

  Time taken = 40 hours 

  Rate per hour = Rs. 10 

  íõÀ÷\ •øÓ¨£i "X" ß ©õu ö©õzu T¼ PnUQkP. 

  ö©õzu ÷|μ® = 48 ©oPÒ 

  GkzxU öPõsh ÷|μ® = 40 ©oPÒ 

  J¸ ©oUS ¹. 10 Ãu®. 

14. (a) Explain the different methods of apportionment of 
service department cost over production 
departments. 

  GÆÁõÖ £À÷ÁÖ £[Rmk •øÓPÎÀ ÷\øÁz 

xøÓ°ß ö\»ÄPøÍ EØ£zv xøÓPÎÀ £[Rk 

ö\´¯¨£kQÓx. 

Or 

 (b) Explain the different types of overheads. 

  £À÷ÁÖ ÁøPPÍõÚ ÷©Øö\»ÄPøÍ ÂÍUSP. 

15. (a) What are the features of process costing? 

  £i•øÓ AhUPÂø»°¯¼ß ußø©PÒ ¯õøÁ? 

Or 

 (b) Prepare Process Accounts 
 Process 
 A B 

Material (Rs.) 2,000 3,000
Wages (Rs.) 10,000 16,000
Overhead (Rs.) 2,100 2,375
Output (units) 9,500 9,100
Normal loss 3% 5%
Wastage (per unit) Rs. 0.50 Rs. 1

  10,000 units were introduced in Process A @ Rs. 2 
per unit. 
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  £i•øÓ PsQøÚz u¯õº ö\´P. 

 £i{ø» 

 A B 

‰»¨ö£õ¸Ò (¹) 2,000 3,000

T¼ (¹) 10,000 16,000

÷©Øö\»Ä (¹) 2,100 2,375

öÁÎ¨£õk (A»SPÒ) 9,500 9,100

\õuõμn |mh® 3% 5%

÷\uõμ® (J¸ A»US) ¹. 0.50 ¹. 1

  10000 A»SPÒ ¹. 2 Ãu® £i{ø» A °À 

¦Szu¨£mhx. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the different elements of cost in detail with 
suitable examples. 

 £À÷ÁÖ AhUP Âø» ‰»UTÖPøÍ uS¢u 

Euõμn[PÐhß ªP ÂÍUP©õP ÂÁ›UPÄ®. 

17. The following particulars have been extracted in respect 
of material X. FIFO and ascertain the value of closing 
stock under. LIFO. 
October  

3 Purchased 500 units at Rs. 4.00 per unit 

5 Issued 400 units 

13 Purchased 600 units at Rs. 4.30 per unit 

15 Issued 400 units 

23 Purchased 600 units at Rs. 3.80 per unit 

25 Issued 600 units 
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 ¤ßÁ¸® uPÁÀPÒ ö£õ¸Ò 'X' £ØÔ vμmh¨£mhx. 

•.Á.•.öÁ. ©ØÖ® C.Á.•.öÁ. •øÓPÎß £i CÖv 

\μUQß ©v¨ø£ PnUQkP. 

AU÷hõ£º  
3 öPõÒ•uÀ 500 A»SPÒ ¹. 4 A»S Ãu® 

5 400 A»SPÒ ÁÇ[Q¯x 

13 öPõÒ•uÀ 600 A»SPÒ ¹. 4.30 A»S Ãu®

15 400 A»SPÒ ÁÇ[Q¯x 

23 öPõÒ•uÀ 600 A»SPÒ ¹. 3.80 A»S Ãu®

25 600 A»SPÒ ÁÇ[Q¯x 

18. From the following particulars calculate the labour cost 
per day of 8 hours. 

 (a) Basic salary Rs. 5 per day 

 (b) Dearness allowance: 20 paise per every point over 
100. Cost of living index for workers current cost of 
living index is 800 points. 

 (c) Leave salary: 5% of (a) and (b) 

 (d) Provident fund: 8% of (a) and (b) 

 (e) ESI : 5% of(a), (b) and (c). 

  Number of working days in a month: 25 days of 8 
hours each. 

 öPõkUP¨£mkÒÍ uPÁÀPÎ¸¢x öuõÈ»õÍº AhUP 

Âø»ø¯ 8 ©o ÷|μ® öPõsh J¸ |õÐUS PnUQkP. 

 (A) Ai¨£øh \®£Í® ¹.5 J¸ |õøÍUS 

 (B) £g\¨£i : 20 ø£\õ Ãu® 100 US ÷©À ö\À¾® 

JÆöÁõ¸ ¦ÒÎUS®. uØ÷£õx ÁõÌUøP SÔ±k 800 

¦ÒÎPÒ 

 (C) Âk¨¦ \®£Í® 5% (A) ©ØÖ® (B) 

 (D) ÷\© |» {v: 8% (A) ©ØÖ® (B) 

 (E) öuõÈ»õÍº ©õ{» Põ¨¥k 5% (A), (B) ©ØÖ® (C) 

  ©õuzvß ÷Áø» |õmPÒ : 8 ©o ÷|μ® öPõsh 25 

|õmPÒ. 
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19. X Ltd. has three production departments. A, B and C and  

two service departments D and E. Following relates for 
the month of November 2009: 

 Rs. 

Rent 10,000 

Depreciation 20,000 

Motive power wages 3,000 

Indirect wages 23,000 

Lighting 1,200 

 Additional information: 

 A B C D E 

Area occupied (sq. feet) 2,000 2,500 3,000 2,000 500

Light points 10 15 20 10 5

Direct wages (Rs.) 3,000 2,000 3,000 1,500 500

House power 60 30 50 10 –

Value of machine (Rs.) 60,000 80,000 1,00,000 5,000 5,000

  Prepare Overhead Distribution Statement. 

 X GßÓ Áøμ¯Ö {Ö©® A, B, C GßÓ ‰ßÖ EØ£zv 

xøÓPøÍ²® D, E GßÓ Cμsk ÷\øÁ xøÓPøÍ²® 

öPõshx. |Á®£º 2009 US Â£μ[PÒ ¤ßÁ¸©õÖ 

 ¹. 

ÁõhøP 10,000 

G¢vμ ÷u´©õÚ® 20,000 

ªß Âø\ 3,000 

©øÓ•PU T¼ 23,000 

ÂÍUS ö\»Ä 1,200 
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 TkuÀ ÂÁμ[PÒ 

 A B C D E 
AÝ÷£õP Ch® (\.Ai) 2,000 2,500 3,000 2,000 500
ÂÍUS ¦ÒÎPÒ 10 15 20 10 5
÷|μiU T¼ (¹) 3,000 2,000 3,000 1,500 500
Svøμz vÓß 60 30 50 10 –
G¢vμ ©v¨¦ (¹) 60,000 80,000 1,00,000 5,000 5,000

 ÷©Øö\»ÄPÒ £Qº¢uÎUP¨£k® AmhÁønø¯ 

u¯õ›UPÄ®. 

20. A product passes through three processes. During  
March 2010, 1000  finished units were produced with the 
following expenditure : 

 Process A Process B Process C
 Rs. Rs. Rs.
Direct Materials 1,500 2,600 2,000
Direct Wages 5,000 4,000 3,000

 Overhead expenses amounted in all to Rs. 6000. they are 
to be apportioned on the basis of direct wages. Main raw 
materials issued to Process A (besides above) were worth 
Rs. 6000. Ignoring the question of stock, prepare the 
Process Accounts concerned. 

 J¸ ö£õ¸Ò EØ£zv ö\´¯ ‰ßÖ £i•øÓPøÍ PhUP 

÷Ásk®, ©õºa 2010 AßÖ {øÓÄØÓ ö£õ¸mPÒ 1000 

A»SPÒ 

 £i•øÓ A £i•øÓ B £i•øÓ C
 ¹. ¹. ¹.

÷|μi ö£õ¸mPÒ 1,500 2,600 2,000
÷|μi T¼ 5,000 4,000 3,000

 ö©õzu©õÚ ÷©Øö\»ÄPÒ ¹. 6,000 Gß£x £i•øÓPÐUS 

÷|μi T¼ ÃuzvÀ £Qº¢uÎUP¨£h ÷Ásk®. •ußø© 

‰»¨ö£õ¸Ò £i•øÓ A US (÷©ØTÔ¯x ÷£õP) 

ÁÇ[P¨£mhvß ©v¨¦ ¹. 6,000. \μUQ¸¨ø£ ¦ÓUPozx, 

÷uøÁ¯õÚ £i•øÓ AhUPÂø»U PnUSPøÍ 

u¯õ›UPÄ®. 

———————— 


